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Question Number : 1 Question Id : 2752285832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When we arrange the letters of the word 'ASLITARUA', we get the name of a country. The third letter from right will be
Options :

1.¥ L

2.% S

3. T

4. % A

Question Number : 1 Question Id : 2752285832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



OIS BH 'ASLITARUA' X65 o 3H&R| P! I P &, Al 8 U ¢ &1 419 Al ¢ | &5 IR A TRISEGR _ BA
Options :

LYL

2. % S

3. % T

4.% A

Question Number : 2 Question Id : 2752285833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, one of the option cannot be formed by the word, given in the question. Find that word.

SABOTAGE
Options :

1. # STAGE
2. % GATES
3. ¥ BEAST
4. ¥ TABLE

Question Number : 2 Question Id : 2752285833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad gy &, uy 7 foU 70 vec gRT, fAhed A QU &1 716 78! a1 ol TohdT 81 39 Ueg ol J1d B |

SABOTAGE
Options :

1. # STAGE
2. % GATES
3. % BEAST
4. ¥ TABLE

Question Number : 3 Question Id : 2752285834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

XAD, FIL, NQT, VYB,
Options :

1. # FIL

2. % CHK

3. ¥ DGJ

4. ¥ EFM

Question Number : 3 Question Id : 2752285834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad 3ar e & q1

XAD, FIL, NQT, VYB,
Options :

1. % FIL

2. % CHK

3. ¥ DGJ

4. % EFM

Question Number : 4 Question Id : 2752285835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

BDA, CEZ, FHU, GI1V, JLS
Options :
1. ®* CEZ
2. ¥ FHU
3. % GIV



4. %= JLS

Question Number : 4 Question Id : 2752285835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad saan d Tad ug I1d o
BDA, CEZ, FHU, GIV, JLS

Options :

1. # CEZ

2. ¥ FHU

3. % GIV

4. % JLS

Question Number : 5 Question Id : 2752285836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. % ER: 1V
2.¥PS:TU
3. #* UA:YE
4. % LS :PW

Question Number : 5 Question Id : 2752285836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U fadenl & 9, 1 T i3 dRi ¥ T8 § | gTallioh, T [ddhed o i &1 <RE -Tal 6| 3% fadhed &I Ia Hx ofl 30 J 3T ¢ |
Options :

1. ®* ER: IV

2.¥PS:TU




3. ¥ UA:YE
4. % LS:PW

Question Number : 6 Question Id : 2752285837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Fawn
2. % Lamb
3. % Cub

4. ¥ Buffalo

Question Number : 6 Question Id : 2752285837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau e fawedt § @, 1 T ¥ o T g 81 86T, U ey 3= dF &t aRe 7Tel & | 39 fadhed &7 70 &3 St 30 ¥ 3a B

Options :

1. % TS
2. % OO
3. % TR
4. U9

Question Number : 7 Question Id : 2752285838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Doctor : Hospital

2. % Gambler : Casino



3. % Waiter : Kitchen
4. # Lawyer : Court

Question Number : 7 Question Id : 2752285838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e it & §, U fAfEd a8t T g || g1, T e 3/ ofiF &t aRe 718 8| S fadhed &7 T &3 il 3170 ¥ 3@ 3 |
Options :

1. % SlqX : Fafbasm

2. % R : J3TER

3. v’éﬂ:?@g’ﬂ?

4. % gDId - IATAT

Question Number : 8 Question Id : 2752285839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ MQJ
2. % KOG
3. % PTL
4. ¥ UYQ

Question Number : 8 Question Id : 2752285839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T faswed! & 9, i T [fYd dXids & 90 B | 8Tald, Th [deed 31 1 &1 ave ol ¢ | 34 [ddHed &1 I8 B il 37 ¥ AT |
Options :

1. ¥ MQJ

2. % KOG

3. % PTL




4. % UYQ

Question Number : 9 Question Id : 2752285840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Calculus : Mathematics :: Botany : ?
Options :

1. ¥ Science

2. % Chemistry

3. % Animals

4. ® Zoology

Question Number : 9 Question Id : 2752285840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S ik UG ¥ 341 UHR ¥ Yafdd g o JhR ¥ 3R UG Ugd Ug ¥ Hafed g

S : IO : gy faq= : 2
Options :

1. ¢ faziH

2. % 34 fage

3. % ggLaf

4. % yrforfazm=

Question Number : 10 Question Id : 2752285841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

ILD : LOG :: ATH : ?
Options :



1. * EWL
2. % ESL

3. % CXL
4. ¥ DWK

Question Number : 10 Question Id : 2752285841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR J g¥R1 S Ugd Ue § Yefid g

ILD : LOG :: ATH : ?
Options :

1. # EWL

2. % ESL

3. % CXL

4. ¥ DWK

Question Number : 11 Question Id : 2752285842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Quadrilateral : 4 :: Heptagon : ?
Options :

1. * 6

2.% 5

3.¢¥7

4. % 8

Question Number : 11 Question Id : 2752285842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



39 fAdh e T 997 B 1 iR UG ¥ ST UHR I Yfdd 5 fo9 UR ¥ ORI UG Ugd Ug ¥ Haifdd g

%%:4::%@:?
Options :

1. %6

2. %5

3.¢¥7

4, % 8

Question Number : 12 Question Id : 2752285843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

ENV:1Z::?
Options :

1. % JMV : NQB
2. % DKQ : HGU
3. % AIC: DKG
4. % RKC : UMF

Question Number : 12 Question Id : 2752285843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR | g¥R1 S Ugd Ue § Yefid g

ENV:1)Z ::?
Options :

1. % JMV :NQB
2. % DKQ : HGU
3. % AIC: DKG
4. ¥ RKC : UMF



Question Number : 13 Question Id : 2752285844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If bed is cupboard, cupboard is shoe rack, shoe rack is mirror, mirror is clock, clock is television, television is sofa, then we can see our reflection
in

Options :

1. # mirror

2. ¥ clock

3. # television
4. % sofa

Question Number : 13 Question Id : 2752285844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It faeR Wﬁiﬁ%aﬁm%%qﬁw%m%mﬁ%ﬁ Seifao 2, Soifae It 2, Y 89 o ufafae &)
|

Options :
1. % GO
2. g8t
3. ® CilfdeH
4. % G

Question Number : 14 Question Id : 2752285845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If LUCKY is coded as 33327, then what is the code for BRAND?
Options :

1. % 37265

2. % 36354

3. % 28144

4. 29154



Question Number : 14 Question Id : 2752285845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe LUCKY &Y 33327 & U H Hifed fooar Tar g, d BRAND & folu ol a1 82
Options :

1. % 37265

2. % 36354

3. % 28144

4. 29154

Question Number : 15 Question Id : 2752285846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ICECREAM is coded as LAHAUCDK, then what is the code for FATHER?
Options :

1. ¥ MUPKCT

2. ¥ IYWFHP

3. #® JZXGIQ

4. % KXUHKR

Question Number : 15 Question Id : 2752285846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe ICECREAM & LAHAUCDK & U H $ifsd fdar a1 8, @Y FATHER & fol ols &1 82
Options :

1. ® MUPKCT

2. ¢ I[YWFHP

3. % JZXGIQ

4. % KXUHKR

Question Number : 16 Question Id : 2752285847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

min tin zin means uber is taxi,

zin jin bin means sunflower is yellow,
jin min means yellow taxi,

what is the code for 'sunflower'?

Options :
1. #® zin
2. % jin
3. % bin

4. % tin

Question Number : 16 Question Id : 2752285847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T {18d s U H,

min tin zin P 3 ‘Zf% uber is taxi,

zin jin bin PT 3 o § sunflower is yellow,
jin min T 3 f3 yellow taxi,

'sunflower' &b ﬁm CAREE I %?

Options :

1. ® zin

2. % jin

3. ¥ bin

4. ® tin

Question Number : 17 Question Id : 2752285848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in a logical sequence:

1. Chief executive officer (CEO)
2. Assistant Manager
3. Clerk



4. Manager
5. Senior Manager

Options :

1. % 5.4,2,3,1
2. % 2.3,5,4,1
3.% 4,3,2,5,1
4. 943,24, 5,1

Question Number : 17 Question Id : 2752285848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufafad & aifdbe B A gafud #3:

1. I SR ABRT (CEO)
2. YgT® UdYPh

3. D

4. UdYh

5. IRy UdYU®

Options :

1. %5423 1

2. % 23,541

3.% 43,251
4.93,2,.4,5 1

Question Number : 18 Question Id : 2752285849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashish, Binita, Sachin, Diksha, Esha and Manish are friends. Ashish and Sachin belong to Green House, while others belong to Blue House.
Diksha and Manish are smart, while others are not. Sachin and Diksha are wearing watches, while others are not wearing. Who among the
following belongs to Blue House, is smart and wearing watch?

Options :
1. ¥ Diksha
2. # Binita



3. # Sachin

4. % Manish

Question Number : 18 Question Id : 2752285849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3mefiy, fafiar, afe, <, T ok 7 <a €1 3meiiy oiR Tfem iH 3o @ Teftid §, wiafe o/ &1 3reg @ et 81 e 3k 7=y
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Options :

1. ¢ dlef

2. % fotar

3. % gt

4. % Ty

Question Number : 19 Question Id : 2752285850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

JKL Company is looking for the post of financial analyst. The candidate must:

1. Have completed CA.

2. Have 2 years of relevant experience.
3. Be 27 years old as on 1/1/2020
4. Sign a bond of 2 years with the company.

The following exceptions apply:

A. If a candidate meets all other criteria except 3 above, the candidate will be referred to the Manager.

B. If a candidate meets all other criteria except 4, but he is ready to pay a compensation of Rs 1,00,000 if he leaves the firm before 2 years, then
he will be referred to the Assistant Manager.

Aman is a qualified CFA and CA. He has been working for 4 years in an MNC. He was born on 4/01/1995. He is ready to sign the bond with the
company.

What decision should be taken about this candidate?
Options :



1. # The candidate should be selected.

2. # The candidateshould be rejected.

3. % The candidate should be referred to the Assistant Manager.
4. ¥ The candidate should be referred to the Manager.

Question Number : 19 Question Id : 2752285850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JKL U i faweives & ug & o @ o3 61 g1 SHigaRr &

1. CA I foban g 1fgu |

2.2 99 Ui 3gHd g1 A8 T

3. 1/1/2020 T 27 dY &1 G TMBY

4. HYA B 1Y 2 I BT dis TS BT8R
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B. Uf BIE IR 4 B DS 3T GH AFCS! B R T &, A afe 98 2 9 | Uga B 1 ©Ig a1 §, a1 I8 1,00,000 3UT B
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3T U 3fgdl UK (HITBIZS) CFA 3R CA 81 T8 TH MNC H 4 T8 J HTH HR X1 ¢ | STDT O 4/01/1995 T AT UT| T8 DT o 1Y
S TR gXINER B & [T TUR B

39 Irficar & IR H a1 Aol fern s =nfewe

Options :

1. % JHIGaR &1 99 far S A1fg |

2. % IWiGaR & 3dighd o ST gl

3. % JRNCIR &l TgTIP Uy P Heidid far ST anfeu|
4. ¢ JWICaR B Usyd ol Tefiid forar S =nfeu|

Question Number : 20 Question Id : 2752285851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Nayantika, Garima, Yashi, Fiza, Kishore and Rashmi are sitting in a circle facing the centre. Garima is to the right of Kishore who is facing
Yashi. Garima is opposite Nayantika, Yashi and Fiza are sitting next to each other. Who is to the left of Rashmi?

Options :

1. # Kishore
2. # Fiza

3. ¥ Nayantika

4. % Garima

Question Number : 20 Question Id : 2752285851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt TR, =, fOreT, PR SR IR &% &1 R g TR U TR H 96 ¢ | TRAT bR BT aTs 3R § o I & TR Hg I
d3T % | TIREAT FgAfADT & fqusid &, It SR el U ge & S H 96 8 1 R & 913 3R DI g7

Options :
1. % fHRIR
2. % fibetl
3. ¢ TgfdT
4. % TR

General Ability2
Group Number : 2
Group Id : 275228204
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Ability2

Section Id : 275228306
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228367
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752285852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: 80 Percent of the students studying in class VIII A passed the final examination.

Conclusion I : Harsh, who is a student of class VIII A, passed in the final examination.
Conclusion II : Harsh, who is a student of class VIII A, failed in the final examination.

Options :

1. * Only conclusion I follows

2. % Only conclusion II follows

3. % Either conclusion I or II follows

4. % Neither conclusion I nor II follows

Question Number : 21 Question Id : 2752285852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HY fear a1 8, o a1 gl s 1 3R 11 fau 7Tu § 1 3mueh! 37 HUAT &l I AT 8, YA 81 I8 JTHId: J1d 9 3 i
Tdiid 811 3! ag fufg o & fos fou e sl & § & w1, afe ®15 31, df fat T8 S &1 SrRu SR g |



HYF: BT VIIL A H Ue- aral 80 Ufa=rd B Sifad usten & 3<iof gul

fspY 1. §Y, S el VI A &1 3 &, 3ifas wlten & 3<iivf gam
s 11: BY, S FefT VI A FT B g, ifaw wien § fawa gan|

Options :

1. % $Had [T5HY I 3FIERU Hdl §

2. % Had HY 11 SR Hdl &

3. ¢ B 1 7 11 SR T §

4. % FTysms 1 3R T & 11 SRV FHRAT §

Question Number : 22 Question Id : 2752285853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : No doctors are engineers.
Statement 2 : Some engineers are chef.

Conclusion I : Some chef are doctors.
Conclusion II : No engineers are doctors.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion I nor II follows

Question Number : 22 Question Id : 2752285853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & pY= feu U 8, fo e a1 gl s [ 3R 11 fau U § 1 3mueh! 39 HUAT &) I AT 8, YA 81 T8 ITHIIG: J1d a2 3 e udld
11 3MUe) g Mg o § & feu e el d A o, afe 18 8, A R MU e § 4 erqERur e g |



HYF 1: B3 b SoM-ER o) g
HYT 2: TB SO Sl g

f5pY 1. $2 ST [Afdha® gl

f5pY 11: ®13 ZolifeR fafercrs T8 g
Options :

1. # $Had [T5HY [ 3IIRV Hl 8

2. ¢ Had (BN 11 SR Rl §

3. % fspel 1 3R 11 G SFERUT HRd §
4. % FTAsHY 1 3R T8 11 SIIRUT IR &

Question Number : 23 Question Id : 2752285854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given course of action, if any, follows from the given statement.

Statement: The poverty level is increasing day by day and is one of the major problems faced by the country.

Courses of Action :
I : The Government should come up with various poverty alleviation programmes to help the poor people.
IT : The Government should provide free education to poor people which will increase their employment opportunities.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. # Neither I nor II follows

Question Number : 23 Question Id : 2752285854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HY fear a1 8§, o a1 PR & &l pH 1 3R 11 fRT U § | 3MUp! 37 Y1 &l I AFAT 8, Yl & g JrHId: I1d g 3
o diid 811 3mue g iy I R b feu U ke & 0 § A 19 91, 3fe P13 81, A T T Y 1 STERU HRaT B |




HYT: TRIdT BT WR feH-ufafes Tear 91381 5 3R I8 o &1 Ty s § 4 U 5|

HRATS DI HH:
I: IPHR DI TRIS AN ! Hag o [o1g fafid TR S HRIHH! &1 JioHT a1 anigy |
II: TRDHR B TR RN ! GO FRIET TS BT AT R I AR & IR d i |

Options :

1. ® $HId [ IR0 FRAT §

2. % Had I 3IERU BT §

3. ¢ 1 3R 11 SHT STER &R ©
4. % 1 3R AT 11 AR Il §

Question Number : 24 Question Id : 2752285855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two reasons, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given reason, if any, follows from the given statement.

Statement : No country in the world is independent.

Reason I : No country has sufficient natural resource to produce all they want.
Reason II : The efficiency of people living in a country has declined.

Options :

1. ¥ Only reason I follows

2. % Only reason II follows

3. # Both reasons I and II follows

4. % Neither reasons I nor II follows

Question Number : 24 Question Id : 2752285855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § U HY fear a1 8, foe 91 &l BRI 1 3R 11 AT U § | 3Musp! 371 Y=l ! I AT 8, Ul 8 I8 JrHad: I1d o 3 fie
Tdiid g1 3! I8 fuig o1 & o fou T SRon & ¥ & 91, afe g 81, O ST 7T U &1 IR0l axdl g

HY: g BT Pl Hft < T TR 7 |



HROT 1 foredt +ft T2 & Uy yaf Ui faes Tame 8t § forad 3 57 918 d § SUd! SdTe- o b |
SR 11: fadt 321 7 387 a1 @Rl &1 gerar § fARTae orrs g |

Options :

1. ¥ Had HRUT [ TRV BT §

2. % HAd HRUT I 3RV BT §

3. % PHROT] MR 11 G IR0 B §
4. % THROTT 3R 7 8 11 SR Rl §

Question Number : 25 Question Id : 2752285856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following number series:

18, 57, , 525, 1578
Options :
1. % 175
2. % 171
3.¥ 174
4. % 169

Question Number : 25 Question Id : 2752285856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafRaa e gad o W H:

18, 57, , 525, 1578

Options :

1. % 175

2. % 171

3.¥ 174

4. % 169



Question Number : 26 Question Id : 2752285857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The H.C.F of two numbers are 15 and the other two factors of their L.C.M. are 17 and 19. Which of the following can be the smaller number of
the two?

Options :
1. % 255
2. % 285
3. % 323
4. % 190

Question Number : 26 Question Id : 2752285857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l TeaTaft o1 HETH JHIIAA® 15 § 3R I agay THIddS & 3 &l 70 17 3R 19 § | Fgfafad # 9 & O 3 &1 3t T gt
bl 82
Options :
1. ¥ 255
2. % 285
3. % 323
4. % 190

Question Number : 27 Question Id : 2752285858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[f22 @4=28;16 @2=9;7 @ 15 =4; then find the value of 24 @ 2=?
Options :

1.¥ 8

2. % 13

3. % 12

4. % 14



Question Number : 27 Question Id : 2752285858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2 @4=8;16@2=9;7 @ 15=4; I 24 @ 2=2 &1 A J1d B
Options :

1.¥38

2. % 13

3. % 12

4. % 14

Question Number : 28 Question Id : 2752285859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 285/15 = 114/x, then what is the value of 12x + 14?
Options :

1. % 74

2. % 112

3. ¥ 86

4. % 98

Question Number : 28 Question Id : 2752285859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl 285/15 = 114/x, W 12x + 14 BT AH 1 52
Options :

1. % 74

2. % 112

3.¥ 86

4. % 98

Question Number : 29 Question Id : 2752285860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Venn diagrams best represents the relationship between Flowers, Roses and Onions?
Options :

HO©

(D
b O

Question Number : 29 Question Id : 2752285860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

OO




Question Number : 30 Question Id : 2752285861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of children who passed in Physics, Biology and Chemistry. How many of these children passed in
only 2 subjects?

Chemistry Physics
Biology
Options :
1. % 18

2. % 12



3.% 10
4. % 40

Question Number : 30 Question Id : 2752285861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 18
2. % 12
3.% 10
4. 40

Question Number : 31 Question Id : 2752285862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents singers, rectangle represents dancers, circle represents painters. Which area represents dancers who are
singers but not painters?



Options :
1. % B
2.% E
3.D
4. % G

Question Number : 31 Question Id : 2752285862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % B
2. % E
3.¥D
4. % G

Question Number : 32 Question Id : 2752285863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Venn diagrams best represents the relationship between week, month and year ?
Options :

€
000



.©o

Question Number : 32 Question Id : 2752285863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

v ©
000




O

Question Number : 33 Question Id : 2752285864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

AVAV
VAAA
AVAV
VAN

AAVA
VVAV
AVAV
AAVA

AAVA
VVAA
AVVYV
AVAA




AAVA
AAVA
YNV A
VAAA

Question Number : 33 Question Id : 2752285864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U faeul & 9, A T i aii T 99 &1 BT, U ey 3 i Pl dig 7ol ¢ | 39 f[Ahed &1 I B Sl 3 T AT 5|

Options :

AVAV
VAAA
AVAV
VAN

AAVA
VVAV
AVAV
AAVA

AAVA
VVAA
AVVYV
AVAA




AAVA
AAVA
VVVA
VAAA

Question Number : 34 Question Id : 2752285865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the following matrix.

30 | 24 | 42

27 ? 35

42 | 12 | 48

Options :
1. % 6
2.9 16
3.% 8
4. % 12

Question Number : 34 Question Id : 2752285865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied Afeey o qu siiwsT I1d B




30

24

42

27

39

42

12

48

Options :

1. % 6
2.¥ 16
3.% 8
4. % 12

Question Number : 35 Question Id : 2752285866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

(@] Alo o|0 &
+ | x x|+ |- .l?
-]+ +|- x|+ .
' m] =] AlA o]
Options :
A a
—| +
+ | X
L v o <




O A
x_
+—
2. ® = 0
0 A
—|+

=1 X
~|o O

3, %

A &
x_
e

4. % 19 o

Question Number : 35 Question Id : 2752285866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifea # 3 o SR 3efa Uy 3a Bt 4R B I el 82

o Alo olO >

Lo olo AlA o)

Options :



A O
-+
+=| X
1.«"0 <o
O A
x_
+—
2w 19 2
o A
-+
| X
=] <
3. %
A <
x_
ris o
4. % 12 =

Question Number : 36 Question Id : 2752285867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third image on the same basis as the second image is related to the first image.



&
b

SLCIHE

1%

LN

7
2. %

DI
3.

N

&N
4. %

Question Number : 36 Question Id : 2752285867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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M
b

Options :
aiD
] ®
y .
L
2. %
DI
3.¢
A
o
4, %

Question Number : 37 Question Id : 2752285868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



From the given answer figures, select the one in which the question figure is hidden/embedded.

1

Options :

1. ® <X>
@
D

Question Number : 37 Question Id : 2752285868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1

Options :

| ®
2. %
D
LL*
3. ¢
4, %

Question Number : 38 Question Id : 2752285869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A cube is painted Red on two opposite faces, Blue on other two opposite faces and Green on the last two opposite faces. This cube is cut into 16
smaller cubes. How many of these smaller cubes will have one face Red, the other face Green and no colour on the remaining faces?

Options :
1.*9
2. % 4
3.% 6
4. ¥ 8

Question Number : 38 Question Id : 2752285869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 99 B! 3 faudid Bas! () R 19, 317 ) fAudid was! () IR iar 3R 3Rast &t faudid was! () IR 8 § Ue fhar sar g1
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Options :

.%9

2. % 4

3. % 6

4. 98

Question Number : 39 Question Id : 2752285870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to complete the question figure?



o|Oo|jo|o
AOIO|A
A< ?
O o

Options :

Ol A
a| o
1. ®

Ol o

Ol A

2. #

Ol A

o |O
3. ¢

O =
O|A

4. ®

Question Number : 39 Question Id : 2752285870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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(e o

Ol A

O|>|>|0
o<

Options :

OlA
-

[
>

3.¢




OO
O

Question Number : 40 Question Id : 2752285871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer cube can be made from the question figure?

1
6 2
3
4 5
Options :
6
1 3
1. %
2
3 6

2. ¥



Question Number : 40 Question Id : 2752285871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &9 91 3R 99 U P T S48 ST Gobdl 82

Options :




3 6

2. ¥
2

6 4

3. %
3

o 1

4. %
General Awarenessl1
Group Number : 3
Group Id : 275228205
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness1

Section Id : 275228307
Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228368
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752285872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Belur Math is a monastery near Kolkata in West Bengal founded by
Options :

1. # Ramakrishna Paramahamsa

2. ¥ Swami Vivekananda

3. % Ram Mohan Roy

4. ¥ Ananda Mohan Bose

Question Number : 41 Question Id : 2752285872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS TS T Sd H Hidaedhial & Ui U 13 g ol SRR frar T g
Options :

1. % JHPW WRAGY

2.« W f[ddbg

3. % AR

4. % 3G HigA 91

Question Number : 42 Question Id : 2752285873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Gochi Festival is associated with which of the following states?
Options :

1. ¥ Assam

2. ®# Haryana

3. % Himachal Pradesh

4. ¥ Madhya Pradesh

Question Number : 42 Question Id : 2752285873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M iR FafeRad 7 9 fod I 9 98182
Options :

1. % 3H

2. % gigrom

3. ¢ oA vew

4. % AH Y

Question Number : 43 Question Id : 2752285874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ghumura dance form of Odisha is performed 15 days before the arrival of full moon in the month of
Options :

1. % October

2. ¥ September

3. % May

4. * June

Question Number : 43 Question Id : 2752285874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3N T GRT T =Y S 7R o gfofm & oM ¥ 15 fa ugd fpar S 21

Options :



1. ® IR
2. ¢ fYdeR
3% 75
4. % 54

Question Number : 44 Question Id : 2752285875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Borgeet is a Vaishnava devotional song, popular in which of the following states?
Options :

1. ¥ Assam

2. % Manipur

3. # Meghalaya

4. ¥ Nagaland

Question Number : 44 Question Id : 2752285875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR U qwId Hiad 1fid &, fafaRad ool 8 8 S8l Ale o g7
Options :

1. ¢ 3{H

2. % AR

3. % HYUe™

4. % ANCUS

Question Number : 45 Question Id : 2752285876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following identities is incorrect?
Options :

1. % GDP=C+I+G+X-M



2. % NNP = GNP - Depreciation
3. ¥ GDP Deflator = Real GDP/Nominal GDP x 100
4. % NNP = NDP + NFIA

Question Number : 45 Question Id : 2752285876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffd # @ w19 A uea™ Tad 8

Options :

l.®* GDP=C+I+G+X-M

2. % NNP= GNP - g

3. ¥ GDP fSTRideR = aRdfdes GDP / ATHA GDP x 100
4. ¥ NNP = NDP + NFIA

Question Number : 46 Question Id : 2752285877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Apart from the Oriental bank of Commerce, which of the following banks were merged with Punjab National Bank in April 20207
Options :

1. % Corporation Bank

2. % Andhra Bank

3. ¥ United Bank of India

4. # Canara Bank

Question Number : 46 Question Id : 2752285877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RTed o 31T BT P fTaT, 30 2020 H FHufefad & § {59 d& &) Uue A29d 9o & Ifaei= favar mar ur
Options :

1. % HIURIH dF

2. % IYTIH




3. ¥ IS S T Sfear
4. % HRI B

Question Number : 47 Question Id : 2752285878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following components should be deducted from Gross Domestic Product to get the Net Domestic Product?
Options :

1. ¥ Depreciation

2. # Transfer payments

3. % Tax payments

4. % Interest received

Question Number : 47 Question Id : 2752285878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o <=fia IdTe U ax & o fFafaRad gedi O 9 fhd Ted axd Sdie ¥ g ST aigu?
Options :

1. ¢ HUgld

2. % 3fRT St

3. % I YIdH

4. % SIS YIfed

Question Number : 48 Question Id : 2752285879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Reserve Bank of India (RBI) has announced that all banks and Non-bank financial institutions (NBFCs) have been permitted to allow a
moratorium of months on repayment of term loans outstanding on 1 March 2020.

Options :
1. %2
2.¥3
3.% 4



4. %5

Question Number : 48 Question Id : 2752285879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %2

2.¥3

3.% 4

4, % 5

Question Number : 49 Question Id : 2752285880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2020, customs duty on furniture has been increased to from 20 percent.
Options :

1. # 26 percent

2. % 28 percent

3. % 22 percent

4. ¥ 25 percent

Question Number : 49 Question Id : 2752285880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole 2020 H OIYUM & 3UR, B R TR AT Yo 20 Ufawa I % Sl fear gl
Options :

1. # 26 Ufa=rd

2. ® 28 yfd=rd

3. % 22 yfd=d



4.+ 25 Yfawrd

Question Number : 50 Question Id : 2752285881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bacteria belongs to which of the following Kingdoms?
Options :

1. % Plantae

2. # Fungi

3. # Protista

4. ¥ Monera

Question Number : 50 Question Id : 2752285881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shary] Fafafed s 8 4 forg 9 defea 82
Options :

1. % T<U

2. % dddh

3. % Yoild

4.« HRI

Question Number : 51 Question Id : 2752285882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following acids is also known as 'Muriatic acid'?
Options :

1. # Carbonic Acid

2. % Sulphuric Acid

3. ¥ Hydrochloric Acid

4. % Acetic Acid



Question Number : 51 Question Id : 2752285882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford or &1 =gRufes e & A ¥ it ST T g2
Options :

1. % BISeh 3T

2. ® TRhIKT

3. ¢ RSIFIRD A

4. % TRYfeD 3w

Question Number : 52 Question Id : 2752285883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The attractional force applied by the earth on an object in the downward direction is called
Options :

1. # Muscular Force
2. * Air Resistance
3. * Frictional Force

4. ¥ Gravitational Force

Question Number : 52 Question Id : 2752285883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gedt gRT forelt avq WR =1 & &= & T 1Y ST vur 9 &l FHET a5 |
Options :

1. % Ui &

2. % IR UfCRIY

3. % guU

4. ¥ TTEATHYY g



Question Number : 53 Question Id : 2752285884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Swachh Bharat Abhiyan (Urban) lies under the
Options :

1. # Ministry of Drinking Water and Sanitation
2. % Ministry of External Affairs

3. ¥ Ministry of Housing and Urban Affairs

4. % Ministry of Home Affairs

Question Number : 53 Question Id : 2752285884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s YR I (T8 F 3fcifd MR
Options :

1. % UgoId 3R Iesdl HaTerd

2. % fag=r HaATeg

3. ¢ TR 3Tt BTSRRI TS 3fei 3thgd

4. % T[g HATHT

Question Number : 54 Question Id : 2752285885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following laws states that induced electromotive force with different polarities induces a current whose magnetic field opposes
the change in magnetic flux through the loop in order to ensure that original flux is maintained through the loop when current flows in it?

Options :

1. ¥ Lenz's Law
2. % Ohm's Law
3. % Snell's Law
4. # Boyle's Law

Question Number : 54 Question Id : 2752285885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ vl &1 4|

2. % Y &1 Agw
3. % Qd &1 g

4. % §igd o (g9

Question Number : 55 Question Id : 2752285886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following seas is the world's largest inland body of water?
Options :

1. % Black Sea

2. % Mediterranean Sea

3. % Caspian Sea

4. % Red Sea

Question Number : 55 Question Id : 2752285886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PIATITR

2. % HHY IR

3. ¢ HRYTT MR

4, % I IR



Question Number : 56 Question Id : 2752285887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers is not a tributary of river Kaveri?
Options :

1. # Bhavani

2. % Sabari

3. * Noyyal

4, % Kabini

Question Number : 56 Question Id : 2752285887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed # 9 19 I 7¢) H1a 1<t B Iue! Tol 82
Options :

1. % Yol

2. ¢ ekt

3. % A

4. % DHiaHl

Question Number : 57 Question Id : 2752285888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cultivation of trees and shrubs is known as

Options :

1. ¥ Viticulture
2. ¥ Pomiculture
3. % Arboriculture

4. % Pisciculture

Question Number : 57 Question Id : 2752285888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 58 Question Id : 2752285889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following mountain peaks is not located on the Western Ghats?
Options :

1. % Kalsubai

2. % Mullayanagiri

3. % Anamudi

4. ¥ Dhupgarh

Question Number : 58 Question Id : 2752285889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofied # ¥ &9 91 uda Rer ufgef g w fyd 781 5
Options :

1. % HagaTs

2. % QIR

3. % 3RSl

4.9 YT

Question Number : 59 Question Id : 2752285890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The was also called the White Flowing River because all the people that were joining the procession were wearing white khadi.
Options :

1. % Khilafat Movement

2. # Quit India Movement

3. % Salt March

4. ¥ Non Cooperation Movement

Question Number : 59 Question Id : 2752285890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI g a1 arei A1 +ff weT SIrar o1 i Jo & wnfid g are i @ Hthe Wrdl U gu A1

Options :

1. % Rgarhd <l
2. % YRd DTSl ATl
3. ¢ UG A

4. % 3TN AT

Question Number : 60 Question Id : 2752285891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Pitt's India Act passed?
Options :

1. % 1792

2. % 1786

3. % 1780

4.+ 1784

Question Number : 60 Question Id : 2752285891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fUe &1 YRa Sfffaa e uiid fosar mar um

Options :



1. % 1792

2. % 1786
3. % 1780
4. ¥ 1784
General Awareness2
Group Number : 4
Group Id : 275228206
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness2
Section Id : 275228308
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228369
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752285892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Governor General of India during the Fourth Anglo-Mysore War?
Options :

1. # Lord Bentinck

2. ¥ Lord Wellesley

3. % Lord Canning

4. # Lord Dalhousie

Question Number : 61 Question Id : 2752285892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Y - IR T & SR YR & AERISAUT B A2
Options :

1. % die dfe®

2. ¢ TS derett

3. % qle i

4. % TS SN

Question Number : 62 Question Id : 2752285893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who presided over the Congress Session of Banaras in 1905?
Options :

1. ¥ Gopal Krishan Gokhale

2. % Dadabhai Naoroji

3. ® Pherozeshah Mehta

4. ¥ Subash Chandra Bose

Question Number : 62 Question Id : 2752285893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



1905 H §RY & B YA &1 sfegerdr fora o2
Options :

1. ¢ T H0T Traet

2. % TIGIHTS RSN

3. % fORRIGIRE Bed

4. % GUY T O

Question Number : 63 Question Id : 2752285894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Second Battle of Tarain fought?
Options :

1. # 1206

2. % 1210

3. % 1190

4,9 1192

Question Number : 63 Question Id : 2752285894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR DT gHRT & P d TSI T Y[?
Options :

1. % 1206

2. % 1210

3. % 1190

4,9 1192

Question Number : 64 Question Id : 2752285895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following didn't receive the Bharat Ratna award in 2019?



Options :

1. % Bhupen Hazarika
2. # Nanaji Deshmukh
3. % Pranab Mukherjee
4. ¥ Virat Kohli

Question Number : 64 Question Id : 2752285895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRed & ¥ fbe 2019 H HRA 7d RIDBR U g1 fbar?
Options :

1. % YU gIeIR®T

2. % M SR

3. % TUTG g@oif

4. ¢ foRTC DIgdl

Question Number : 65 Question Id : 2752285896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of 'India Divided'?
Options :

1. # Jawaharlal Nehru

2. % Rajendra Prasad

3. % Shashi Tharoor

4. % A.P.J. Abdul Kalam

Question Number : 65 Question Id : 2752285896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST fEaEes & aad B g2
Options :




1. % Jaedd Jg%

2. ¢ oI5 UG

3. % QR YT

4. % TUY O, 3fegd Ha™

Question Number : 66 Question Id : 2752285897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of the Association of Southeast Asian Nations located?
Options :

1. # China

2. ¥ Indonesia

3. ¥ Nepal

4, % Vietnam

Question Number : 66 Question Id : 2752285897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18T gl TRRITS 19T &1 W13 1 JBATed Hl 1Ud 8?2
Options :

1. %

2. ¢ SR

3. % qUrd

4. % fogd-mg

Question Number : 67 Question Id : 2752285898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the current (August 2021) chief minister of Tripura?
Options :

1. # Neiphiu Rio



2. % Conrad Sangma
3. % Prem Singh Tamang
4. ¥ Biplab Kumar Deb

Question Number : 67 Question Id : 2752285898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®F BQRT & aduM (3T 2021) TR 82
Options :

1. % Afthg

2. % HIRIS JITHA

3. % N g a9

4. ¢ @ R <d

Question Number : 68 Question Id : 2752285899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Every year, the state of Odisha celebrates Utkal Divas on
Options :

1. % 1st April

2. % 31st march

3. % 2nd April

4. % 29th March

Question Number : 68 Question Id : 2752285899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T, SfifS= =g B Ihd [Gad FAC 5 |
Options :

1.v 1 304

2. % 31 A



3. % 2 3M0d
4. % 297

Question Number : 69 Question Id : 2752285900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prime Minister Narendra Modi addressed India to switch off their lights on at 9 PM for nine minutes and light lamps or candle.
Options :

1. % 5th April 2020

2. % 6th April 2020

3. % 7th April 2020

4. # 4th April 2020

Question Number : 69 Question Id : 2752285900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Hﬁﬁﬁﬁﬁ%ﬁﬁaﬁfﬁam?r@ 1A & 9 ol A fiFe & forg Arse a8 o SR e a1 diveh Sam &
g

Options :

1. ¢ 5 30 2020
2. % 63U 2020
3. % 7 3(0d 2020
4. % 4 310 2020

Question Number : 70 Question Id : 2752285901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On April 4, 2020, the associations of civil servants formed an initiative called to support the government efforts to fight Corona
Virus.

Options :
1. ¥ PRAAN
2. ¥ CARUNA



3. ¥ KRUNA
4. % JEEVAN

Question Number : 70 Question Id : 2752285901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4%zoﬁ,%ﬁa@aﬁ%ﬁﬁﬁmmﬁa@%ﬁwﬂm@wmﬁﬁ%ﬁ ATH® TP Ugd Bl
e fHar|

Options :

1. # PRAAN
2. ¥ CARUNA
3. ¥ KRUNA
4. ¥ JEEVAN

Question Number : 71 Question Id : 2752285902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following applications is launched by the Government of India to map the location of a COVID-19 positive patient through
GPS on 2nd April 2020?

Options :

1. # Corona Tracker
2. % Corona Kavach
3. % Corona Yojana
4. # Corona Naksha

Question Number : 71 Question Id : 2752285902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 3Ud 2020 BT GPS & HILHH J PIfAS-19 UIIfed AR & VI BT Udl T & I YR WBR gRT FHgfaiad § ¥ i a1 Ui
qr=a fopar T g2

Options :

1. % HRAT AR




2. ¢ BRI Had
3. % HRHET Ao
4. ® DRI THI

Question Number : 72 Question Id : 2752285903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of "Equal Protection Under Law" in the Indian Constitution is borrowed from the constitution of which of the following countries?
Options :

1. % Australia

2. ®* United Kingdom

3. # TIreland

4. % United States of America

Question Number : 72 Question Id : 2752285903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT Tau™ & "SHFH & dgd THH QRET" ST SauRon Hafeied # ¥ {6y 3xr & Wy 9 YR &t 718 82
Options :

1. % 3fiecfer

2. % gARCE fhirem

3. % JRRATS

4. ¢ o Y AR

Question Number : 73 Question Id : 2752285904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the ex-ofticio chairman of the Rajya Sabha?
Options :

1. ¥ Vice President of India

2. # Finance Minister of India



3. #* President of India

4. % Prime Minister of India

Question Number : 73 Question Id : 2752285904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafifRad o | 1M JISTHT BT IS SR (e 87
Options :

1. ¢ YRd & IWIFUfd

2. % YRd & fod Hl

3. % YR b APUd

4. % YRd P YU HA

Question Number : 74 Question Id : 2752285905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Schedules in the Indian Constitution is associated with the central government, state, and concurrent lists of
responsibilities?

Options :

1. % Sixth

2. % Ninth

3. #® Eighth

4. ¥ Seventh

Question Number : 74 Question Id : 2752285905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRerg Tfaeum & Fofafed srgfedl § 9 o1 @ g WeR, 7 iR forderia &) grad I 3 gt 82
Options :

1. % B3t

2. % df




3. % 37&dT
4. ¢ gradt

Question Number : 75 Question Id : 2752285906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendment incorporated Dadra and Nagar Havelli as a Union Territory?
Options :

1. # 8th

2. % Oth

3. ¥ 10th

4. % 11th

Question Number : 75 Question Id : 2752285906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafea Saufe e & 9 fram gTexT 3R TR ! &1 dg YMRId UeRT & U | =M faan
Options :

1. % gdf

2. % odf

3. ¢ 104

4. % 114l

Question Number : 76 Question Id : 2752285907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the FIH Rankings 2020, Indian Men’s Hockey Team attained
Options :

1. ® 3rd

2. ¥ 5th

3. % 4th

position.




4, % 2nd

Question Number : 76 Question Id : 2752285907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIH X 2020 & SFUR, HRAG QRY GBI A RIF U |
Options :

1. % 330

2. ¢ 54

3. % 4Y]

4, % R

Question Number : 77 Question Id : 2752285908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On March 30, 2020 the International Table Tennis Federation (ITTF) announced that it is suspending all the planned events till
Options :

1. ¥ 30th June 2020

2. % 31st July 2020

3. % 31st August 2020

4. % 30th September 2020

Question Number : 77 Question Id : 2752285908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 HTE, 2020 P ST ¢ad AT SR (ITTF) 3 TN Hi fob I8 d% gyt fAaford gensit &1 fFdfad s @18
Options :

1. % 30 92020

2. % 3] g 2020

3. % 31 3T 2020
4. % 30 RIdsR 2020




Question Number : 78 Question Id : 2752285909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following won the first FIFA World Cup held in 1930?
Options :

1. * Yugoslavia

2. % Argentina

3. ¥ Uruguay

4. % United States

Question Number : 78 Question Id : 2752285909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad & 9 fe 1930 # SIS Ugel Wi fay &u Siar
Options :

1. % QAT

2. % 3foIdHT

3. ¥ I3

4. % I I

Question Number : 79 Question Id : 2752285910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams won the Ranji Trophy title for the first time in 70 years in March 2020?
Options :

1. % Vidarbha

2. % Karnataka

3. # Bengal

4. ¥ Saurashtra

Question Number : 79 Question Id : 2752285910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferied o ¥ foore &5 = 91 2020 T 70 96T T Ugel IR IUMST I BT RIS SitdT?
Options :

1. % faqf

2. ® FHHCH

3. % ST

4. ¢ ARTY

Question Number : 80 Question Id : 2752285911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries will host the third Asian Youth Games to be held in November 2020 as announced by the Olympic Council
of Asia?

Options :

1. ¥ China

2. # India

3. % United States

4. # United Kingdom

Question Number : 80 Question Id : 2752285911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W%ﬁﬁmﬁ,E&mﬁ%uﬁwmﬁn@@w%waﬁmzozoﬁmﬁméﬁaﬁwmﬁw@ﬁﬁ
AT BT

Options :

1. ¢ T

2. % YRd

3. % ggoad I

4. % gA3CS fhiTeH
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Group Number : 5

Group Id : 275228207
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 275228309
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228370
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752285912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCF of two numbers is 11. If these two numbers are in the ratio 14:15 then, what are the numbers?
Options :

1. ¥ 154, 165

2. % 70,75



3. % 84,90
4. % 98,105

Question Number : 81 Question Id : 2752285912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS BT HEaH qHUAD 11 51 IS 3 & =AY 14:15 & SIATd H €, o T 1 82
Options :

1. ¥ 154, 165

2. %.70,75

3. % 84,90

4. % 98,105

Question Number : 82 Question Id : 2752285913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a number is subtracted by 30 percent of another number then, it becomes 120 percent of the another number. What is the ratio between the
number and the another number?

Options :
1. % 2:5
2. % 3:5
3.¥ 32
4. % 1:4

Question Number : 82 Question Id : 2752285913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wwﬁ&gﬁ%mﬁw%w%ﬁmm%ﬁ%g&ﬁﬁww1zoqﬁmﬁﬁaﬁ%lﬁweﬁ?§aﬂm$aﬂaw
SIUId AT 87

Options :
1. % 2:5
2. % 3:5



3.¥3:2
4. % 14

Question Number : 83 Question Id : 2752285914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of A increases by 30 paise every year, while the price of B increases by 10 paise every year. If in 1992, the price of A was Rs. 5 and
that of B was Rs. 6.50, in which year A will cost 50 paise more than B?

Options :
1. % 2000
2. % 1998
3. ¥ 2002
4. % 2005

Question Number : 83 Question Id : 2752285914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A D AN 81 9 30 T T It 3, SIafd B B ad gX ay 10 T I dgal a1 Tfe 1992 H, A o1 ANTd 5 30T ff 3R B BT 6.50 SUT T,
ford o § B &1 o H A &1 AFTd 50 U 3 31fde gifte

Options :
1. * 2000
2. % 1998
3. 92002
4. = 2005

Question Number : 84 Question Id : 2752285915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the sum of two consecutive even numbers, the difference of whose squares is 60?
Options :

1. % 40

2.9 30



3. % 32
4. % 48

Question Number : 84 Question Id : 2752285915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I HHNTT T TeATeHl &1 a1 o 5, Foras ol T $feR 60 &2
Options :

1. #® 40

2.9 30

3. % 32

4. % 48

Question Number : 85 Question Id : 2752285916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For 12 innings, Pankaj has an average of 104 runs. In the thirteenth inning, he scores 143 runs, thus increasing his average. By how much has his
average increased?

Options :

1. # 13.7 runs
2. * 17 runs
3. * 8runs

4. % 3 runs

Question Number : 85 Question Id : 2752285916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
éghﬁ%%u,dmmeﬁw 104 3 g | IREA URY H, 3T 143 3 WOR for, o8 39 3id H gfs g5 | 3% 3id & fva ¥ gfs
?

Options :
1. % 13,74
2. % 174



3. % 8
4.9 334

Question Number : 86 Question Id : 2752285917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raghu bought some chocolates at 15 percent discount on the original price. The original price of each chocolate is Rs. 160. If he made a total
savings of Rs. 480 then, how many chocolates did he buy?

Options :
1. ® 30
2.¥ 20
3. % 40
4. % 32

Question Number : 86 Question Id : 2752285917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A A AN W 15 YA e W $S ddac WRie! | T e &1 Jal arTd 160 SUT g | A 3T 480 TUY &1 Hd S99d $i §,
I forait Alebeic @RIGH

Options :

1. % 30

2.9 20

3. % 40

4., % 32

Question Number : 87 Question Id : 2752285918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of 11 consecutive numbers is 'n'. If the next four numbers are included, then what will be the average?
Options :

1. % n

2. % n+1



3. n+2
4, % n+3

Question Number : 87 Question Id : 2752285918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHHRTT 11 HBATSHT BT 3G 'n' 81 Afe 3T IR HBHT XM B! Il &, A1 SHTEd T g
Options :

I.* n

2.% n+1

3.9 n+2

4, % n+3

Question Number : 88 Question Id : 2752285919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kapil has to pay 42 percent of the money in his wallet as electricity bill. He pays Rs. 756 as electricity bill. How much money does he have in his
wallet?

Options :

1. ¥ Rs. 1800
2. % Rs. 1600
3. % Rs. 1876
4. % Rs. 1956

Question Number : 88 Question Id : 2752285919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST DI 3 gL H Y MR &7 42 Ufa=rd fyoielt fod & &0 § YfTdH &31 8 | 98 756 $UT faoTel! fod & 9§ Sd1 g1 3P 9 &
fep et R 82

Options :

1. ¥ 1800 30U

2. % 1600 ¥UT




3. % 1876 %UQ
4. % 1956 >UU

Question Number : 89 Question Id : 2752285920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an examination 850 boys and 1120 girls appeared. 30 percent of the boys and 60 percent of the girls passed the exam. What is the percentage
of failed candidates?

Options :

1. # 10 percent

2. % 48.14 percent
3. ¥ 52.94 percent
4. % 30 percent

Question Number : 89 Question Id : 2752285920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U1 | 850 TSP 3R 1120 TSfHai IuRYA g3 | 30 YA TSH1 3R 60 I TS 7 utern I<iivf o1 | sywat Iwfiear) &1
gf=Td T 82

Options :

1. % 10 gfawd

2. % 48.14 Ufa=rd

3. ¢ 52.94 Ufa=rd

4. % 30 gfa=rd

Question Number : 90 Question Id : 2752285921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total population of a town was 8400 in year 1. The number of males and females increases by 8 percent and 5 percent respectively and
consequently the population becomes 8955 in year 2. What was the number of females in the town in year 1?

Options :
1. ¥ 4500



2. ¥ 3900
3. # 6000
4. % 4800

Question Number : 90 Question Id : 2752285921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt TR Bt Ha SER W | F 8400 AT | THUT IR Afgarmsil &1 We HH: 8 Ufa=id iR 5 Ufa=id I 9Gd! § 3IR TRUTHRGEY STie
ay 2 T 8955 I ol g1 8 | T TR & wfganaf & e favat ot

Options :
1. * 4500
2. % 3900
3. #* 6000
4. % 4800

Question Number : 91 Question Id : 2752285922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of trees in a city increased by 5 percent in the first year, decreased by 8 percent in second year and increased by 15 percent in third
year. If now the number of trees is 11109, then what was the number of trees in the beginning?

Options :

1. % 10000
2. % 10500
3. % 10409
4. % 10909

Question Number : 91 Question Id : 2752285922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁaﬁﬁwwﬁﬁ@aﬁﬂwﬁsmﬁqﬁﬁ gﬂ%aﬁﬁstﬁmﬁmﬁ@ SR AW Y H 15 Ufa=rd &1 3fg g5 | IS 3@
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Options :



1. ¥ 10000
2. * 10500
3. % 10409
4. % 10909

Question Number : 92 Question Id : 2752285923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling a garland for Rs. 11.50, a shopkeeper gains 15 percent. For how much should he sell it to gain 30 percent?
Options :

1. % Rs. 12

2. % Rs. 12.50

3. ¥ Rs. 13

4, ® Rs. 13.50

Question Number : 92 Question Id : 2752285923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11.50 $9T & foTT Ueh AIQT S, Uh GHIGR B! 15 Ua=Td &1 a1 8T g1 30 Ufa=rd a SifSid & o forg 3 fova & sra-1 =nfgw?
Options :

1. % 1200

2. % 12.50>4Q

3.9 13340

4. % 13.50>4UUq

Question Number : 93 Question Id : 2752285924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the price of onions falls by 12 percent, by how much percent must a householder increases its consumption, so as not to decrease his
expenditure in this item?

Options :
1. # 600/49 percent



2. % 150/11 percent
3. % 100/7 percent
4. % 150/7 percent

Question Number : 93 Question Id : 2752285924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
trf%wgarﬂamﬁ1zuﬁﬁraar>"rﬁﬂa€&neﬂ%,ﬁwﬁﬂwﬁmﬁmﬁq@mm,mgﬂmﬁwm
HHAGN

Options :

1. % 600/49 Ufa=Id

2. ¥ 150/11 Ufa=rd

3. % 100/7 Ufa=rd

4. % 150/7 9fa=rd

Question Number : 94 Question Id : 2752285925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trishita bought a video game and paid 10 percent less than the original price. She sold it at 20 percent profit on the price she had paid. What was
the percentage of profit earned by Trishita on the original price?

Options :

1. ¥ 8 percent
2. % 42 percent
3. % 70 percent
4. % 36 percent

Question Number : 94 Question Id : 2752285925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfRrar 7 v difSa 10 Wi SR ga arTa § 10 Ufa=Id S8 YT fohaT| I8 58 AT TR 20 UfIRId arH OR o S 9 YT &1 ot
o AT TR RARIAr gR1 ifold &1 ufa=ra &m 4t

Options :




1. ¢ g gfa=rd
2. % 42 gfa=rd
3. % 70 Ufa=rd
4. % 36 Ufa=rd

Question Number : 95 Question Id : 2752285926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio 6 : 7 and if 16 is added to the first number and 16 is subtracted from the second number then, the ratio becomes 2 :
1. What is the difference between these two numbers?

Options :
1. %5
2. % 18
3.% 12
4. ¥ 6

Question Number : 95 Question Id : 2752285926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 G- 6 : 7 % AT H § 3R M 16 P Ugel T- H SIS I § 3R 16 P GO} T I G Sl 8, af iU 2 ¢ 1 Y o g1 39
3 Tt & offT T 3R 82

Options :

1. %5

2. % 18

3. % 12

4.9 6

Question Number : 96 Question Id : 2752285927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of money is to be divided between Praveen, Pankaj and Rohan in the ratio of 4 : 5 : 9. If the difference between the shares of Pankaj
and Rohan is Rs. 6720. What is the total amount of money?



Options :

1. ®* Rs. 36050
2. % Rs. 25120
3. ¥ Rs. 30240
4. * Rs. 38050

Question Number : 96 Question Id : 2752285927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, Uohol SIR ST P S 4 : 5 : 9 P U H Y-RIRT ! TFHITd foban ST 51 af U SR g & Tl & &t & Siak 6720 IUU &
| T YR foat 82

Options :

1. % 36050 TUY

2. % 25120 ¥UY

3. ¢ 30240 STT

4. % 38050 TUY

Question Number : 97 Question Id : 2752285928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 3159 was divided among men and women in such a way that each man gets Rs. 40.50 and each women gets Rs. 31.50. If the total
number of men and women is 90. What is the number of women?

Options :
1. #® 36
2.9 54
3. % 48
4, % 52

Question Number : 97 Question Id : 2752285928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3159 TUT P AT T TSN 3R Afgenaii & o 59 dg favnfora far mar o1 fh Ul 3meH! &Y 40.50 $UT 3R YD AfGdT Bl 31.50



UT fired 81 afe gt 3R afgensit & o T 90 B 1 @ Afearsit o T a1 32
Options :

1. ® 36

2. ¥ 54

3. % 48

4, % 52

Question Number : 98 Question Id : 2752285929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four friends P, Q, R and S have some money among them, they decided to equate the money, so first P gave Q what Q had initially, now Q gave
R what R had initially, now R gave S what S had initially and finally S gave P what P had now. Thus each of them had an equal sum of Rs. 124.
Then what amount did S have initially?

Options :

1. % 178.25
2. % 108.5
3.9 93

4, % 62

Question Number : 98 Question Id : 2752285929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR R P, Q, R 3R S & &1 F& AR 7, I8 AT B SRIER HRA &1 Hraal fowan, e ugd p A Q Ia-1 faan a1 @ & oy = #
T, 3{F Q = R P I a1 T R & IR = B T, 3@ R A S BT 1 a1 fTa1 S & U IR H AT 3R SRRBR S A P HI I fean
T P o U 37+ B 1 30 TR 390 I TS & UM 124 TUT &1 9 A1 o1 1 I A S o ard farait 2 o

Options :

1. % 178.25
2. % 108.5
3.9 93

4. % 62

Question Number : 99 Question Id : 2752285930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the simple interest on Rs. 72000 at 5(2/11) percent per annum for a period of 11 months?
Options :

1. ¥ Rs. 3420

2. % Rs. 7200

3. % Rs. 4840

4. % Rs. 5120

Question Number : 99 Question Id : 2752285930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 981 &t 3afyy & fore ufa af 5(2/11) Ufa=rd iR 72000 FUT TR JIYROUT TS TG 2
Options :

1. % 3420 %UU

2. % 7200%UUq

3. % 4840%UU

4, % 5120%0U

Question Number : 100 Question Id : 2752285931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akshay lent Rs.8000 to Balraj for 3 years and Rs. 5000 to Kavita for 5 years on simple interest at the same rate of interest and received Rs. 4900
in all from both of them as interest. What is the rate of interest per annum?

Options :

1. # 5 percent
2. ®% 6 percent
3. % 8 percent
4. ¥ 10 percent

Question Number : 100 Question Id : 2752285931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

& 3 FAT <X TR JIYRUT TS TR STl 1 3 9 b ol 8000 SUT 3R Hfaar b1 5 a8 & T 5000 TUT IUR U 3R Ol & =0 H
I TF W 4900 TUT ol T | U o =oreT R 82

Options :
1. % 5 yfaerd
2. % ¢ gfcrRrd
3. % g yfcRrd
4. ¢ 10 Ufd=rd
Arithmetic Ability2
Group Number : 6
Group Id : 275228208
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 275228310
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 275228371
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2752285932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If it is given that simple interest is 8.5 percent annually and compound interest is 8 percent annually, what will be the difference between the
interests on Rs. 4000 after 2 years?

Options :

1. ¥ Rs. 144
2. % Rs. 42
3. % Rs. 534
4. % Rs. 58.8

Question Number : 101 Question Id : 2752285932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

éﬂm%uﬁwwmqﬁaﬁ&s Ufa=d § SR Iehgfe s ufaay 8 ufawrd g, a2 a¥ |18 4000 $UT TR &ATS & o9 1 3R
?

Options :

1. ¥ 14.43%UU
2. % 424U
3. % 53.4%4U7
4. % 58.8 24U

Question Number : 102 Question Id : 2752285933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 10000 is to be divided between a brother and a sister such that if the interest being compounded annually is 6 percent per annum,
then the money with the brother after 3 years is equal to the money with sister after 5 years. What is the share of brother?
Options :

1. #® Rs. 5984.11



2. ¥ Rs. 5291.01
3. ¥ Rs. 6010.01
4. % Rs.6111.24

Question Number : 102 Question Id : 2752285933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10000 ¥TT BT Y7 T B TP HTS 3R TP 98- & a9 59 avg [qHTRTd foham S anfet i afe aifties U ¥ asrgfs e o xg1 s
gfd ay ¢ ufawra g, A 3 I & 91 HIE S U &1 977 5 I8 & §1¢ 961 & U & Y & SRIeR g | HTS T 3T 1 82

Options :

1. % 5984.11 ¥UQ
2.9 5291.01 304U
3. % 6010.01 ¥4
4. % 6111.24 >4

Question Number : 103 Question Id : 2752285934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus covers four successive 4 km stretches at speeds of 20 kmph, 40 kmph, 60 kmph and 80 kmph respectively. What is the average speed of
the bus over the total 16 km?

Options :

1. % 45.8 kmph
2. % 50 kmph
3. ¥ 38.4 kmph
4. % 60 kmph

Question Number : 103 Question Id : 2752285934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%waﬂm: 20 kmph, 40 kmph, 60 kmph 3R 80 kmph 1 T TR IR HH® 4 km TR B RT B & | A 16 km T o B 3 71
(?

Options :



1. # 45.8 kmph
2. % 50 kmph
3. % 38.4 kmph
4. % 60 kmph

Question Number : 104 Question Id : 2752285935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sonal travelled a distance of 40 Km at the speed of 6 Km/hr, she reached 20 minutes later than a certain fixed time. If she travels at the speed of
10 Km/hr, how early from the fixed time will she reach?

Options :

1. ¥ 2 Hrs 20 minutes
2. % 1 Hrs 30 minutes
3. % 2 Hrs 30 minutes
4. % 3 Hrs

Question Number : 104 Question Id : 2752285935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a6 Knvhr BT T 40 Km $1 G0 09 &Y, T8 T 1Y 99T 9 20 e 1€ ugdt | afe 98 10 Km/hr H1 711 I A6 el 8, 1 98
i THa 3 fa sieg! gga?

Options :

1. ¢ 2%¢ 20 fiFe

2. % 14¢ 30 e

3. % 2€c¢ 30 e

4. % 3¢

Question Number : 105 Question Id : 2752285936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akash travelled 160 Kms in 3 hours. He went some distance at the rate of 60 Km/hr and the rest at 40 Km/hr. How far did he travel at the rate of
40 Km/hr?



Options :

1. # 60 Km
2. % 40 Km
3. % 36 Km
4. % 50 Km

Question Number : 105 Question Id : 2752285936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHTRI A 3 G H 160 Kms P AET 1| 8 60 Km/hr 1 T I FS G b T 3R 40 Ken/hr BT 1T TR 1T D1 AT BT | 39 40 Ken/hr B
T & fpa gt aa B2

Options :

1. % 60 Km

2. ¥ 40 Km

3. % 36 Km

4. % 50 Km

Question Number : 106 Question Id : 2752285937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi and Mohan together can complete a work in 24 days. Ravi alone can complete the work in 40 days. In how many days Mohan alone can
finish this work?

Options :

1. ¥ 60 days
2. % 40 days
3. ® 45 days
4. % 50 days

Question Number : 106 Question Id : 2752285937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 SR HIe U 1Y 24 &1 T T S T R Thd & | (T 31 40 el § 10 R R GobdT 5 | fova farl B Hig sidha 98 &1H I




R qHdl 62
Options :

1. ¢ 60 e
2. % 40 feT
3. % 45faq
4. % s0fea

Question Number : 107 Question Id : 2752285938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit can do a work in 15 days. Kapil is 50 percent more efficient than Rohit. In how many days will the work be completed by Kapil?
Options :

1. % 30 days

2. % 23 days

3. # 8 days

4.+ 10 days

Question Number : 107 Question Id : 2752285938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afed 15 fel 7 U S o qhel1 ¢ | A B Jor1 H HUd 50 U= 4% Ha g | Hiud v il § & 1 B
Options :

1. % 30

2. % 23feH

3. % g faA

4.+ 1084

Question Number : 108 Question Id : 2752285939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 employees of a company working for 6 hours a day, completed a task in 7 days. If 36 employees work for 7 hours a day, then what is the time
required to complete the work?



Options :

1. # 2 days
2. % 4 days
3. ¥ 5 days
4. # 6 days

Question Number : 108 Question Id : 2752285939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B & 30 HHARA! A fe T 6 U HTH FRap 7 o= 7 U w1 Q1 favann | A 36 HHaR) feq & 7 98 1 akd §, Al 10 R A &
NIEEIRERIC) W

Options :

1. % 2fed

2. % 4f&H

3. ¢ 5fdA

4. % ¢fed

Question Number : 109 Question Id : 2752285940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man, a woman and a boy can complete a work in 4 days, 6 days and 12 days respectively. How many boys must assist 1 man and 1 woman to
complete the job in half of a day?

Options :
1. % 12
2.¥19
3. % 48
4. % 25

Question Number : 109 Question Id : 2752285940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YoV, U AT 3R U ASHT HH: 4 f3H, 6 7 3R 12 1 o 0 o1/ QT R Thdl & 1 3118 o1 o1 bt 1 v o fore fovaqy



ASDI Bl 1 T2 3R | Higell Bl TG B! AT
Options :

1. % 12

2.9 19

3. % 48

4. % 25

Question Number : 110 Question Id : 2752285941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of the curved surface area and the volume of a cylinder is 4 : 5 then, what is its diameter?
Options :

1. % 5 unit

2. % 4 unit

3. % 7 unit

4. % 10 unit

Question Number : 110 Question Id : 2752285941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ % NI &% 3R U o & ST BT 3JATd 4 : 5 8, A1 IHDT T o1 82
Options :

1. ¥ 53%8
2. % 43HIS
3. % 73dTs
4. % 10 3PS

Question Number : 111 Question Id : 2752285942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 Circular plates each of thickness 2 cm are placed one above the other and a hemisphere of diameter 12 c¢cm is placed on the top just to cover
the cylindrical solid. What is the volume of the solid so formed?



Options :

1. # 8007 cu cm
2. % 8907 cu cm
3. % 1008n cu cm
4. % 980m cu cm

Question Number : 111 Question Id : 2752285942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 AR Wel, 2 cm B HIeTs TAH B Th & HUR Udh [T T § 3R 12 cm ST & Mdl, B! A 9GTIHR 319 B gh & ol SHW
T T § | §TC 7Y 31 T AT o1 82

Options :

1. # 800w cu cm

2. % 8907 cu cm

3. % 10087 cu cm

4. % 9807 cu cm

Question Number : 112 Question Id : 2752285943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the volume of a cone of radius 3.5 cm is 269.5 cu cm, then, what is the height of the cone?
Options :

l. ®* 14 cm

2.% 21 cm

3. % 28 cm

4, % 12 cm

Question Number : 112 Question Id : 2752285943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3.5 om IS & WP BT AT 269.5 cu cm &, T, TF B SHATs 1 82

Options :



1. *# 14 cm
2.% 21 cm
3. % 28 cm

4. % 12 cm

Question Number : 113 Question Id : 2752285944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the sales by 5 students P, Q, R, S and T during a fair in their school. What is the average sales by these five students?

Name Sale (in Rs.)

P 242
Q 484
R 180
5 510
T L84

Options :

1. ¥ 400

2. % 510

3. % 380

4. % 410

Question Number : 113 Question Id : 2752285944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁy?@am%maﬁﬁamﬁwﬁé%aﬁmsmﬁa Q, R, S 3R T GRT &1 7T b1 ol STt § 1 37 UTa B gRT 1 718 3n9d bt
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| ol (ewe )

P 242
Q 434
R 180
5 510
T L84

Options :

1. ¥ 400

2. % 510

3. % 380

4. % 410

Question Number : 114 Question Id : 2752285945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-chart shows the land distribution of a housing colony. If the total area of the colony is 3600000 sq m. What is the ratio of area
allotted for Road to area allotted to Commercial?



Land distribution of a housing
colony

Options :
1.¥17:9
2.%9:2
3.%3:4
4. % 17:24

Question Number : 114 Question Id : 2752285945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad u-aré Ue SHarg Siamt & Yl favor &1 g=ifdr 8 | afS Sia-! &1 $d 8% 3600000 sq m & | A A0S & e smdfed
&3 T, S & U 3MTdfed &1 &1 3uTd o1 82
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Options :
1.¥17:9
2.%9:2
3. % 3:4
4. % 17:24

Question Number : 115 Question Id : 2752285946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-chart shows the marks of a student in different subjects in an annual exam. Total marks obtained for the examination is 720. In
which subject did the student get 90 marks?



Marks of a student

Options :

1. #® Physics
2. % English
3. ¢ Hindi

4. ® Chemistry

Question Number : 115 Question Id : 2752285946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied us-arc ve arftfer alien & fafiid ol & U B & Sid! o a=1idl § | TRI&T o fod U S i 720 | v fawa & s &t
90 3 UT §U &7
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Options :

1. % st

2. % 3USH

3. ¢ fgal

4. % G- fag=

Question Number : 116 Question Id : 2752285947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table shows the expenditure of a family in the year 2008. How much percent of the total amount is spent on entertainment?



Activities Expenditure (in Rs.)
Food 20000
Education 160000
Transport L0000
Housing 140000
Saving 100000
Clothing 40000
Entertainment 30000

Options :

1. % 30 percent
2. % 10 percent
3. ® 15 percent

4. ¥ 5 percent

Question Number : 116 Question Id : 2752285947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad arferes ad 2008 & Te GRAR & 0T HI i & | Ha AR BT fohaT1 Ufa=Td FARSH WR W [T SITdl 62

fFot | =@ FuEd)
s 80000
e 160000
ufyaeq 50000
HIATH 140000
CEG| 100000
FUS 40000
T e 30000

Options :

1. ® 30 gfawrd



2. % 10 yfawrd
3. % 15 gfa=d
4.+ 5 gfaRrd

Question Number : 117 Question Id : 2752285948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following histogram shows the marks of the students of a school. What are the total number of students in this school?

250 -

228

200

150

100

Mumber of students

0-100 100-200 200-300 300-400 400-500 500-600
Marks

Options :
1. % 400
2. % 500
3. % 384
4. ¥ 465

Question Number : 117 Question Id : 2752285948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 400
2. % 500
3. % 384
4. ¥ 465

Question Number : 118 Question Id : 2752285949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following graph shows the income and expenditure of a family in different years. In which year the savings were maximum?



® Income (in lakhs) ™ Expenditure (in lakhs)
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Options :
1. % 1997
2. ¥ 1996
3. % 1995
4. % 1994

Question Number : 118 Question Id : 2752285949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1997
2. ¥ 1996
3. % 1995
4. % 1994

Question Number : 119 Question Id : 2752285950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the number of male and female employees in five companies. What percentage are the number of females in
company E out of the total number of employees in all the companies?
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Options :

1. # 77 percent
2. % 54 percent
3. % 22 percent
4. ¥ 11 percent

Question Number : 119 Question Id : 2752285950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 77 yfawrd
2. % s4Yfard
3. % 22 gfa=id
4. ¥ 11 gfa=rd

Question Number : 120 Question Id : 2752285951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following frequency polygon shows the number of cars sold on five days of a week in a showroom. What is the decrease percent of car
selling on Tuesday compared to Monday?



Number of cars sold
(=] = (] W =Y A o = (=]
1

Monday Tuesday Wednesday  Thursday Friday

Days

Options :

1. ® 400 percent
2. % 120 percent
3. ¥ 80 percent
4. ® 40 percent

Question Number : 120 Question Id : 2752285951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 400 gfa=rd
2. % 120 Ufaerd
3. ¢ 80 Ufd=Id
4. % 40 gfa=rd
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General English1

Section Id : 275228311
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752285952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Karnataka region on average had receive (1)/ heavier rainfall than Kerala, (2)/ Maharashtra and Goa. (3)/ No Error (4)
Options :

1. ¥ The Karnataka region on average had receive

2. * heavier rainfall than Kerala,

3. % Maharashtra and Goa.

4. * No Error

Question Number : 121 Question Id : 2752285952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Karnataka region on average had receive (1)/ heavier rainfall than Kerala, (2)/ Maharashtra and Goa. (3)/ No Error (4)
Options :



1. ¥ The Karnataka region on average had receive
2. % heavier rainfall than Kerala,

3. ¥ Maharashtra and Goa.

4. ® No Error

Question Number : 122 Question Id : 2752285953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It may probably have involved the knowledge that liberation (1)/ was attained by the combination of mindfulness and dhyana, applied (2)/ to the
understanding of the arising and cease of craving. (3) No Error (4)

Options :

1. # It may probably have involved the knowledge that liberation

2. % was attained by the combination of mindfulness and dhyana, applied
3. ¥ to the understanding of the arising and cease of craving.

4. ® No Error

Question Number : 122 Question Id : 2752285953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

It may probably have involved the knowledge that liberation (1)/ was attained by the combination of mindfulness and dhyana, applied (2)/ to the
understanding of the arising and cease of craving. (3) No Error (4)

Options :

1. # It may probably have involved the knowledge that liberation

2. # was attained by the combination of mindfulness and dhyana, applied
3. ¥ to the understanding of the arising and cease of craving.

4. ® No Error

Question Number : 123 Question Id : 2752285954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

According to Bronkhorst, the first two inscriptions are later additions, while insight into (1)/ the four truths represent a later development; within
response to concurring religious (2)/ traditions, in which "liberating insight" came to be stressed over the practice of dhyana. (3) No Error (4)

Options :

1. ¥ According to Bronkhorst, the first two inscriptions are later additions, while insight into
2. ¥ the four truths represent a later development; within response to concurring religious

3. # traditions, in which "liberating insight" came to be stressed over the practice of dhyana.
4. ® No Error

Question Number : 123 Question Id : 2752285954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

According to Bronkhorst, the first two inscriptions are later additions, while insight into (1)/ the four truths represent a later development; within
response to concurring religious (2)/ traditions, in which "liberating insight" came to be stressed over the practice of dhyana. (3) No Error (4)

Options :

1. ® According to Bronkhorst, the first two inscriptions are later additions, while insight into
2. ¥ the four truths represent a later development; within response to concurring religious

3. % traditions, in which "liberating insight" came to be stressed over the practice of dhyana.
4. ® No Error

Question Number : 124 Question Id : 2752285955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

River provide portable water, cheap transportation, (1)/ electricity, and the livelihood for (2)/ many people nationwide. (3)/ No Error (4)
Options :

1. ¥ River provide portable water, cheap transportation,

2. % electricity, and the livelihood for

3. ¥ many people nationwide.



4, % No Error

Question Number : 124 Question Id : 2752285955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

River provide portable water, cheap transportation, (1)/ electricity, and the livelihood for (2)/ many people nationwide. (3)/ No Error (4)
Options :

1. ¥ River provide portable water, cheap transportation,

2. % electricity, and the livelihood for

3. #* many people nationwide.

4. % No Error

Question Number : 125 Question Id : 2752285956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Egypt has one of the biggest histories of (1)/ any country, tracing its heritage back (2)/ to the 6th—4th millennia BCE. (3)/ No Eror (4)
Options :

1. ¥ Egypt has one of the biggest histories of

2. % any country, tracing its heritage back

3. # to the 6th—4th millennia BCE.

4. % No Error

Question Number : 125 Question Id : 2752285956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Egypt has one of the biggest histories of (1)/ any country, tracing its heritage back (2)/ to the 6th—4th millennia BCE. (3)/ No Eror (4)
Options :



1. ¥ Egypt has one of the biggest histories of
2. # any country, tracing its heritage back

3. # to the 6th—4th millennia BCE.

4. % No Error

Question Number : 126 Question Id : 2752285957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The range (terminates) north to south along the western edge of the Deccan Plateau, and separates the plateau from a narrow coastal plain, called
Konkan, along the Arabian Sea.

Options :

1. # absorbs
2. ¥ runs

3. % disperses

4. # No Correction Required

Question Number : 126 Question Id : 2752285957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The range (terminates) north to south along the western edge of the Deccan Plateau, and separates the plateau from a narrow coastal plain, called
Konkan, along the Arabian Sea.

Options :

1. # absorbs
2. ¥ runs

3. % disperses

4. ® No Correction Required



Question Number : 127 Question Id : 2752285958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In most armies use of the word "soldier" has taken on a more general (meaning, the increased specialisation) of military occupations that require
different areas of knowledge and skill-sets.

Options :

1. * meant due to the increased specialisation

2. % meaning due to the increasing specialisation
3. * meaning that the increased specialising

4. % No Correction Required

Question Number : 127 Question Id : 2752285958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In most armies use of the word "soldier" has taken on a more general (meaning, the increased specialisation) of military occupations that require
different areas of knowledge and skill-sets.

Options :

1. # meant due to the increased specialisation

2. ¥ meaning due to the increasing specialisation
3. % meaning that the increased specialising

4. # No Correction Required

Question Number : 128 Question Id : 2752285959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



As machines (became increasing capability, tasks considering) to require "intelligence" are often removed from the definition of Al a
phenomenon known as the Al effect.

Options :

1. ¥ become increasingly capable, tasks considered
2. ® become increasingly capable, tasks considering
3. # increased capability, task considered

4. ® No Correction Required

Question Number : 128 Question Id : 2752285959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

As machines (became increasing capability, tasks considering) to require "intelligence" are often removed from the definition of Al, a
phenomenon known as the Al effect.

Options :

1. ¥ become increasingly capable, tasks considered
2. ® become increasingly capable, tasks considering
3. # increased capability, task considered

4. ® No Correction Required

Question Number : 129 Question Id : 2752285960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The pieces (move and capture tilted forward), until they reach the opposite end of the board, when they are crowned and can thereafter move and
capture both backward and forward.

Options :
1. # moved and captured tilted forward
2. # moved and captured diagonally ahead

3. ¥ move and capture diagonally forward



4. # No Correction Required

Question Number : 129 Question Id : 2752285960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The pieces (move and capture tilted forward), until they reach the opposite end of the board, when they are crowned and can thereafter move and
capture both backward and forward.

Options :

1. # moved and captured tilted forward

2. # moved and captured diagonally ahead
3. % move and capture diagonally forward

4. # No Correction Required

Question Number : 130 Question Id : 2752285961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Tea is an beverage commonly prepared by pouring hot or boiling water over cured leaves of the Camellia sinensis, an evergreen shrub
native to East Asia.

Options :

1. # austere

2. # wholesome
3. ¥ aromatic

4. % luscious

Question Number : 130 Question Id : 2752285961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.



Tea is an beverage commonly prepared by pouring hot or boiling water over cured leaves of the Camellia sinensis, an evergreen shrub
native to East Asia.

Options :

1. # austere

2. # wholesome
3. % aromatic

4. % luscious

Question Number : 131 Question Id : 2752285962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The civilian economy, which had slowly throughout the war, reached disastrous levels by the middle of 1945.
Options :

1. ¥ deteriorated

2. % ameliorated

3. % augmented

4. % modernized

Question Number : 131 Question Id : 2752285962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The civilian economy, which had slowly throughout the war, reached disastrous levels by the middle of 1945.
Options :

1. ¥ deteriorated

2. % ameliorated

3. ¥ augmented

4, % modernized

Question Number : 132 Question Id : 2752285963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The anchored off Calais, while awaiting communications from the Duke of Parma, it was scattered by an English fire ship night
attack and abandoned its rendezvous with Parma's army that was blockaded in harbour by Dutch flyboats.

Options :

1. # Squadron
2. ¥ Armada
3. % Troop

4. % Shoal

Question Number : 132 Question Id : 2752285963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The anchored off Calais, while awaiting communications from the Duke of Parma, it was scattered by an English fire ship night
attack and abandoned its rendezvous with Parma's army that was blockaded in harbour by Dutch flyboats.

Options :

1. # Squadron
2. ¥ Armada
3. # Troop

4. % Shoal

Question Number : 133 Question Id : 2752285964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Etching is an intaglio method of printmaking in which the image is into the surface of a metal plate using an acid.
Options :
1. % expunged

2. % withdrawn



3. # detached
4. « incised

Question Number : 133 Question Id : 2752285964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Etching is an intaglio method of printmaking in which the image is into the surface of a metal plate using an acid.
Options :

1. # expunged

2. # withdrawn

3. # detached

4. ¥ incised

Question Number : 134 Question Id : 2752285965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct sentence.

Because the

P: of any natural material. Few types of impurity can contaminate it. Small numbers

Q: pink, orange or red. Diamond also has relatively

R: arrangement of atoms in diamond is extremely rigid, it has the highest hardness and thermal conductivity
S: of defects or impurities colour the diamond blue, yellow, brown, green, purple,

high optical dispersion.
Options :

1. # SRPQ

2. % PQSR

3. ¥ RPSQ

4. % QSPR



Question Number : 134 Question Id : 2752285965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a few sentences have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these
parts can be rearranged to form a meaningful and grammatically correct sentence.

Because the

P: of any natural material. Few types of impurity can contaminate it. Small numbers

Q: pink, orange or red. Diamond also has relatively

R: arrangement of atoms in diamond is extremely rigid, it has the highest hardness and thermal conductivity
S: of defects or impurities colour the diamond blue, yellow, brown, green, purple,

high optical dispersion.
Options :

1. #* SRPQ

2. % PQSR

3. ¥ RPSQ

4. % QSPR

Question Number : 135 Question Id : 2752285966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Indian rebellion

P: summary treatment of some rich landowners

Q: and princes, as well as scepticism about the improvements

R: was fed by resentments born of diverse perceptions,

S: including invasive British-style social reforms, harsh land taxes,

brought about by British rule.
Options :



1. ¥ PSRQ
2. ¥ RSPQ
3. % SQRP
4. % QPRS

Question Number : 135 Question Id : 2752285966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Indian rebellion

P: summary treatment of some rich landowners

Q: and princes, as well as scepticism about the improvements

R: was fed by resentments born of diverse perceptions,

S: including invasive British-style social reforms, harsh land taxes,

brought about by British rule.
Options :

1. # PSRQ

2. % RSPQ

3. % SQRP

4. % QPRS

Question Number : 136 Question Id : 2752285967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Royal Enfield was a brand name under which The Enfield Cycle Company Limited of Redditch, Worcestershire sold motorcycles, bicycles,
lawnmowers and stationary engines which they had manufactured.

P: The first Royal Enfield motorcycle was built in 1901.



Q: In 1955, Enfield Cycle Company partnered with Madras Motors in India in forming Enfield of India, based in Chennai, and started assembling
the 350cc Royal Enfield Bullet motorcycle in Madras.

R: Enfield Cycle Company also used the brand name Enfield without Royal.

S: The Enfield Cycle Company is responsible for the design and original production of the Royal Enfield Bullet, the longest-lived motorcycle
design in history.

The Indian government wanted a motorcycle for its police and army, for patrolling the country's border. The Royal Enfield Bullet from Enfield of
India was chosen as the most suitable bike for the job.

Options :

1. ¥ SRQP
2. % SPQR
3. ¥ QSRP
4. ¥ RPSQ

Question Number : 136 Question Id : 2752285967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Royal Enfield was a brand name under which The Enfield Cycle Company Limited of Redditch, Worcestershire sold motorcycles, bicycles,
lawnmowers and stationary engines which they had manufactured.

P: The first Royal Enfield motorcycle was built in 1901.

Q: In 1955, Enfield Cycle Company partnered with Madras Motors in India in forming Enfield of India, based in Chennai, and started assembling
the 350cc Royal Enfield Bullet motorcycle in Madras.

R: Enfield Cycle Company also used the brand name Enfield without Royal.

S: The Enfield Cycle Company is responsible for the design and original production of the Royal Enfield Bullet, the longest-lived motorcycle
design in history.

The Indian government wanted a motorcycle for its police and army, for patrolling the country's border. The Royal Enfield Bullet from Enfield of
India was chosen as the most suitable bike for the job.

Options :

1. # SRQP
2. % SPQR
3. ¥ QSRP



4. % RPSQ

Question Number : 137 Question Id : 2752285968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Most monarchies only have a single person acting as monarch at any given time.

P: There are examples of joint sovereignty of spouses, parent and child or other relatives.

Q: The Empire of Austria-Hungary also had diarchy from 1867 till its collapse in the wake of World War I.
R: Although two monarchs have ruled simultaneously in some countries, a situation known as diarchy.

S: Historically this was the case in the ancient Greek city-state of Sparta, 17th-century Russia.

The leaders of such joint sovereignty are usually known as corulers.
Options :

1. # PSRQ

2. ¥ RSQP

3. % SPQR

4. % QPSR

Question Number : 137 Question Id : 2752285968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a passage have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful passage.

Most monarchies only have a single person acting as monarch at any given time.

P: There are examples of joint sovereignty of spouses, parent and child or other relatives.

Q: The Empire of Austria-Hungary also had diarchy from 1867 till its collapse in the wake of World War L.
R: Although two monarchs have ruled simultaneously in some countries, a situation known as diarchy.

S: Historically this was the case in the ancient Greek city-state of Sparta, 17th-century Russia.

The leaders of such joint sovereignty are usually known as corulers.



Options :

1. # PSRQ
2. ¥ RSQP
3. ¥ SPQR
4. % QPSR

Question Number : 138 Question Id : 2752285969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Persistent
Options :

1. # Intermittent
2. # Delinquent
3. % Continual
4. ¥ Periodic

Question Number : 138 Question Id : 2752285969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Persistent
Options :

1. # Intermittent
2. % Delinquent
3. % Continual
4. % Periodic

Question Number : 139 Question Id : 2752285970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is the opposite meaning (ANTONYM) to the word given below.

Lugubrious
Options :

1. ¥ Joyful
2. # Pensive
3. % Gloomy
4. ¥ Honest

Question Number : 139 Question Id : 2752285970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Lugubrious
Options :

1. ¥ Joyful
2. # Pensive
3. % Gloomy
4. % Honest

Question Number : 140 Question Id : 2752285971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Terse
Options :

1. ¥ Brusque
2. # Harsh
3. # Long

4. % Verbose



Question Number : 140 Question Id : 2752285971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is closest in meaning (SYNONYM) to the word given below.

Terse
Options :

1. ¥ Brusque
2. % Harsh
3. * Long

4. * Verbose
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 275228373
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752285972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Approbation
Options :

1. # Esteem

2. % Permission
3. ¥ Disagreement

4. # Countenance

Question Number : 141 Question Id : 2752285972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

Approbation
Options :

1. * Esteem

2. % Permission
3. ¥ Disagreement

4. * Countenance

Question Number : 142 Question Id : 2752285973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.



Precipice
Options :
1. # Sweat
2. # Rain
3. % CIiff
4. # Cheap

Question Number : 142 Question Id : 2752285973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

Precipice
Options :
1. # Sweat
2. % Rain
3. ¢ CIiff
4. # Cheap

Question Number : 143 Question Id : 2752285974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ACOMMODATE

2. ¥ ACCOMMODATE

3. ¥ ACCOMODATE

4. ¥ ACOMODATE

Question Number : 143 Question Id : 2752285974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ®* ACOMMODATE

2. ¥ ACCOMMODATE

3. ¥ ACCOMODATE

4. % ACOMODATE

Question Number : 144 Question Id : 2752285975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # CONCENSUS

2. % CONSENCUS

3. ¥ CONSENSUS

4. % CONSENSES

Question Number : 144 Question Id : 2752285975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CONCENSUS

2. % CONSENCUS

3. ¥ CONSENSUS

4. % CONSENSES

Question Number : 145 Question Id : 2752285976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. ¥ DAQUIRI

2. % DAIQUIRE
3. ¥ DAQUERI
4. ¥ DAIQUIRI

Question Number : 145 Question Id : 2752285976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ DAQUIRI

2. % DAIQUIRE

3. % DAQUERI

4. ¥ DAIQUIRI

Question Number : 146 Question Id : 2752285977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ LIASION

2. % LAISON

3. ¥ LIAISON

4. % LIASSION

Question Number : 146 Question Id : 2752285977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # LIASION

2. % LAISON



3. ¥ LIAISON
4. % LIASSION

Question Number : 147 Question Id : 2752285978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Prospecience

2. ¥ Prospicience

3. % Prospicence

4. # Prospisience

Question Number : 147 Question Id : 2752285978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Prospecience

2. ¥ Prospicience

3. % Prospicence

4. % Prospisience

Question Number : 148 Question Id : 2752285979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Sell like hot cakes.
Options :
1. # An easy task

2. # Questionable measures



3. % Having a monopoly

4. ¥ Selling very fast

Question Number : 148 Question Id : 2752285979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Sell like hot cakes.

Options :

1. # An easy task

2. # Questionable measures
3. ¥ Having a monopoly

4. ¥ Selling very fast

Question Number : 149 Question Id : 2752285980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Drive a hard bargain.

Options :

1. # To drive very slowly.

2. % To argue hard to get a favourable deal.
3. # To move something with great difficulty.

4. # To love someone you think you can't have.

Question Number : 149 Question Id : 2752285980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Drive a hard bargain.



Options :

1. #® To drive very slowly.

2. % To argue hard to get a favourable deal.
3. ¥ To move something with great difficulty.

4. ® To love someone you think you can't have.

Question Number : 150 Question Id : 2752285981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Upset someone’s applecart

Options :

1. ¥ Doing something that causes a plan to go wrong.
2. # Causing trouble for a poor man.

3. % Having a bad stomach.

4. # Ruthlessly breaking a heart.

Question Number : 150 Question Id : 2752285981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Upset someone’s applecart

Options :

1. ¥ Doing something that causes a plan to go wrong.
2. # Causing trouble for a poor man.

3. # Having a bad stomach.

4. % Ruthlessly breaking a heart.

Question Number : 151 Question Id : 2752285982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Up in arms

Options :

1. # A person with very high thinking.
2. % A military man.

3. ¥ Angry about something.

4. ® Kept with very high importance.

Question Number : 151 Question Id : 2752285982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Up in arms

Options :

1. # A person with very high thinking.
2. # A military man.

3. ¥ Angry about something.

4. % Kept with very high importance.

Question Number : 152 Question Id : 2752285983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The branch of medicine that deals with the prevention, diagnosis, and treatment of cancer.
Options :

1. ® Cancerology

2. % Caneology

3. ® Codicology

4. ¥ Oncology



Question Number : 152 Question Id : 2752285983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The branch of medicine that deals with the prevention, diagnosis, and treatment of cancer.
Options :

1. # Cancerology

2. # Caneology

3. # Codicology

4. ¥ Oncology

Question Number : 153 Question Id : 2752285984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

To dissent or deviate from a dominant theory, opinion, or practice.
Options :

1. ¥ Heresy

2. # Unsavory

3. % Swerve

4. ¥ Undignify

Question Number : 153 Question Id : 2752285984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

To dissent or deviate from a dominant theory, opinion, or practice.
Options :
1. ¥ Heresy

2. % Unsavory



3. ®# Swerve
4. ¥ Undignify

Question Number : 154 Question Id : 2752285985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The final beatitude transcends suffering, karma, and samsara and is sought especially in Buddhism through the extinction of desire and individual
consciousness.

Options :

1. # Endurance

2. ¥ Nirvana

3. % Continuance
4. # The big game

Question Number : 154 Question Id : 2752285985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The final beatitude transcends suffering, karma, and samsara and is sought especially in Buddhism through the extinction of desire and individual
consciousness.

Options :

1. # Endurance

2. ¥ Nirvana

3. % Continuance
4. # The big game

Question Number : 155 Question Id : 2752285986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.



The art of arranging letters and text in a way that makes the copy legible, clear, and visually appealing to the reader.
Options :

1. # Calligraphy

2. # Graphology

3. ¥ Typography

4. # Theology

Question Number : 155 Question Id : 2752285986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expression given below.

The art of arranging letters and text in a way that makes the copy legible, clear, and visually appealing to the reader.
Options :

1. # Calligraphy

2. # Graphology

3. % Typography

4. # Theology

Sub-Section Number : 2
Sub-Section Id : 275228374
Question Shuffling Allowed : Yes

Question Id : 2752285987 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

In the natural world, synergistic phenomena are ubiquitous, ranging from physics, to chemistry, to the cooperative interactions among the genes
in genomes, the division of labour in bacterial colonies, in multi-cellular organisms and in by socially-organized groups. The term synergy comes
from the Attic Greek word “cuvepyia synergia” from “synergos, cuvepydg”, meaning "working together".

Effective groups actively look for the points on which they disagree and in consequence encourage conflicts amongst the participants in the early
stages of the discussion. In contrast, the ineffective groups feel a need to establish a common view quickly, use simple decision making methods
such as averaging, and focus on completing the task rather than on finding solutions they could agree on.



If used in a business application, synergy means that teamwork will produce an overall better result than if each person within the group were
working toward the same goal individually. Group cohesion is the property that is inferred from the number and strength of mutual positive
attitudes among members of the group. First, the interactions and communication between members increase. Common goals, interests and small
size all contribute to this. In addition, group member satisfaction increases as the group provides friendship and support against outside threats.
Group cohesion although being good for the group has a negative aspect called Group Polarisation. It is when individuals in a group begin by
taking a moderate stance on an issue regarding a common value and, after having discussed it, end up taking a more extreme stance.

Sub questions

Question Number : 156 Question Id : 2752285988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of the Greek word from which synergy is derived?
Options :

1. # Staying together.

2. # Made of each other.

3. % Disposition of things.

4. ¥ Working together.

Question Number : 157 Question Id : 2752285989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the passage what do you understand by ‘ubiquitous’?
Options :

1. # That is not pristine.

2. # That is relating to god.

3. % That is found everywhere.

4. # That is a phenomena of the present and was not there in the past.

Question Number : 158 Question Id : 2752285990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What do you understand by synergy?
Options :

1. # The haphazard combination of two or more things or other agents to produce an effect greater than the sum of their separate effects.



2. ¥ The interaction or cooperation of two or more organizations, substances, or other agents to produce a combined effect greater than the sum
of their separate effects.

3. # The unorganised interaction of two or more forces to produce a combined effect.

4. % The erratic formation of two or more organizations, substances, or other agents to produce a combined effect greater than the sum of their
separate effects.

Question Number : 159 Question Id : 2752285991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the risk of having synergy in a group?

Options :

1. # The interactions and communication between members increase and aids decision making
2. ¥ It leads to group polarisation.

3. # It leads to group cohesion.

4. ® Group provides friendship and support against outside threats.

Question Number : 160 Question Id : 2752285992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is an effective group better than an ineffective group?

Options :

1. ® Effective groups, in the later stages, actively look for the points in which they disagree.

2. % Ineffective groups spend a lot of time to establish a common view.

3. ¥ Effective groups encourage conflicts amongst the participants in the early stages of the discussion.

4. ® Ineffective groups focus on finding solutions they could agree on.

Question Id : 2752285987 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

In the natural world, synergistic phenomena are ubiquitous, ranging from physics, to chemistry, to the cooperative interactions among the genes
in genomes, the division of labour in bacterial colonies, in multi-cellular organisms and in by socially-organized groups. The term synergy comes
from the Attic Greek word “cuvepyia synergia” from “synergos, cuvepydc”, meaning "working together".



Effective groups actively look for the points on which they disagree and in consequence encourage conflicts amongst the participants in the early
stages of the discussion. In contrast, the ineffective groups feel a need to establish a common view quickly, use simple decision making methods
such as averaging, and focus on completing the task rather than on finding solutions they could agree on.

If used in a business application, synergy means that teamwork will produce an overall better result than if each person within the group were
working toward the same goal individually. Group cohesion is the property that is inferred from the number and strength of mutual positive
attitudes among members of the group. First, the interactions and communication between members increase. Common goals, interests and small
size all contribute to this. In addition, group member satisfaction increases as the group provides friendship and support against outside threats.
Group cohesion although being good for the group has a negative aspect called Group Polarisation. It is when individuals in a group begin by
taking a moderate stance on an issue regarding a common value and, after having discussed it, end up taking a more extreme stance.

Sub questions

Question Number : 156 Question Id : 2752285988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of the Greek word from which synergy is derived?
Options :

1. % Staying together.

2. % Made of each other.

3. % Disposition of things.

4. ¥ Working together.

Question Number : 157 Question Id : 2752285989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the passage what do you understand by ‘ubiquitous’?
Options :

1. * That is not pristine.

2. ® That is relating to god.

3. ¥ That is found everywhere.

4. # That is a phenomena of the present and was not there in the past.

Question Number : 158 Question Id : 2752285990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What do you understand by synergy?



Options :
1. # The haphazard combination of two or more things or other agents to produce an effect greater than the sum of their separate effects.

2. ¥ The interaction or cooperation of two or more organizations, substances, or other agents to produce a combined effect greater than the sum
of their separate effects.

3. # The unorganised interaction of two or more forces to produce a combined effect.

4. % The erratic formation of two or more organizations, substances, or other agents to produce a combined effect greater than the sum of their
separate effects.

Question Number : 159 Question Id : 2752285991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the risk of having synergy in a group?

Options :

1. # The interactions and communication between members increase and aids decision making
2. ¥ It leads to group polarisation.

3. # It leads to group cohesion.

4. ® Group provides friendship and support against outside threats.

Question Number : 160 Question Id : 2752285992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is an effective group better than an ineffective group?

Options :

1. ® Effective groups, in the later stages, actively look for the points in which they disagree.

2. % Ineffective groups spend a lot of time to establish a common view.

3. ¥ Effective groups encourage conflicts amongst the participants in the early stages of the discussion.

4. ® Ineffective groups focus on finding solutions they could agree on.
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Question Number : 161 Question Id : 2752285993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HIg +3ad
Options :
1. % Y3
2. ¥ HIIEA
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4. % Y




Question Number : 161 Question Id : 2752285993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed U |, IR [ddwedl 7 9, 39 fdmed &1 9949 33 ol foT U I8! TfY fawse &1 9fY &1 98! f[awea 81l

HIg +3ad
Options :
1. % Y3
2. ¥ HIIEA
3. % Y3y
4. % Y

Question Number : 162 Question Id : 2752285994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed Uy §, IR el 7 9, 39 fahcu o1 9a7 &3 o feT TN Yee & et Y fade &1 faweu 81
R

Options :

1. % quT+d
2. % qY + 31
3. ¢ qYT+ 3fY
4. % d+yify

Question Number : 162 Question Id : 2752285994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwel 7 9, 39 fddhed &1 999 &2 o1 fGTU TN Weg & el GfY fowde &1 [ddwea gl
ayrfy

Options :




Question Number : 163 Question Id : 2752285995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed uy d, IR fowedl § 9, 39 faweu &1 997 &3 ol AU TN Yeg & foll I8! HHUYRU 99N & 398 &1 fdwea gl
qrorog

Options :

1. % JIOT R g

2. % 7o g o

3. % gor el g

4. ¥ 0T & qHHE O

Question Number : 163 Question Id : 2752285995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad Uy &, IR fawedl 4 9, 39 fadhed &1 904 &1 ol U 1T sg & O1T YT HHYRU 90N & f9Ug &1 f[adbed gl
qroTog

Options :

1. % gror R g

2. % grorg g

3. % QU1 g

4.+ JT0N o THH g

Question Number : 164 Question Id : 2752285996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRufafad uy A, IR e § T, 39 fawey &1 T B o ST O 94 s BT ot [Abed 8|
Options :

1. ¢ 3acip

2. % Tl

3. % g

4. % g

Question Number : 164 Question Id : 2752285996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy o, 9R fadmed! § 9, 39 faded &1 997 ¥ Sl SUTH ¥ 1 ok H1 g fabed 71|
Options :

1. ¢ 3faileh]

2. ® Ha

3. % g5

4. % gedt

Question Number : 165 Question Id : 2752285997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifed uy §, IR fawcdl 8 9, 39 [9wed &1 997 B o T 3 54 Xeg $1 g1 fadbed g1
Options :

1. % 3

2. ¢ HYF

3. % gyRA

4, ® fRTAHROT

Question Number : 165 Question Id : 2752285997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufaRad Uy |, IR fAdeul A ¥, 39 fdwed &1 999 B3 ol U0d I 4 e, &1 Yol [dbed ol



Options :

1. % 3

2. ¥ HYF

3. % gy
4. % fRTHI0T

Question Number : 166 Question Id : 2752285998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeiRad Uy #, IR Al 7 9, 39 fawed &1 999 B3 ol feT U Yeg BT aH U gl

SHIERT
Options :

1. % 3¢

2. % 3RiiY
3. ¢ SRR
4, % DY

Question Number : 166 Question Id : 2752285998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufaRed Uy |, IR fAdcul 7 ¥, 39 fdwed &1 9949 33 ol faT U Yeg T ddH U Bl

SHINRT
Options :

1. % 3¢

2. % 3Ny
3. v 3TN
4. % HIY

Question Number : 167 Question Id : 2752285999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy H, IR fadwel 7 9, 39 fdded &1 999 &3 o1 fGTU U Weg &1 dagd U Bl
Ja-afd

Options :
1. % frer
2. % FIRTA
3. % A
4. ¢ M4

Question Number : 167 Question Id : 2752285999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafRad Uy A, IR fawedl & ¥, 39 fdewed &1 w9 &3 1 foU 71U et &1 dagd FU 81|
Jaafd

Options :
1. % {7
2. % AT
3. % 9
4. ¢ 94

Question Number : 168 Question Id : 2752286000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered Uy , IR fadbedl # 9, 39 [ddbed &1 98- &< Wil 416l Weg b1 gl fdbed Bl
Options :

1. % d§gxl

2. ¥ ferafa

3. % formTmT

4. % gD




Question Number : 168 Question Id : 2752286000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR foeeal § 9, 39 fahcd o1 I8 &Y Ol SXIol Ueg b1 et f[dbed gl
Options :

1. % dgxl

2. ¥ ferafa

3. # foroeTeT

4. % TGP

Question Number : 169 Question Id : 2752286001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed uy 8, TR foeedl § T, 39 fAewe &1 999 o3¢ ol foU 7T ¥reg & yafuarh 2ee &1 98t faded 71 8|
g

Options :

1. % 34T

2. ¢ YU

3. % 3ifg

4. % Ud-qrad

Question Number : 169 Question Id : 2752286001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed vy #, IR fadedl § 9, 39 fased o1 997 B ol 30 TTT Weg & uafadr 2rea &1 98! fdsbed 781 5 |
qg

Options :

1. % 3T

2.« HUId




3. % 3fg

4. % Udq-r8a-d

Question Number : 170 Question Id : 2752286002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR ol 7 9, 39 ey &1 98 B3 o fAdH Weg &1 T 33T fdheu B
ST

Options :

|, ¢ R

2. % gerg

3. % 7d

4. % Gad

Question Number : 170 Question Id : 2752286002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiad uy & IR fowedl & T, 39 ey &1 79 &3 St fadH Teg o1 Ja 331 fApeu g
ST

Options :

. R[AX

2. ® YdId

3. % 7q

4. % g

Question Number : 171 Question Id : 2752286003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § T, 39 I8! faded o1 I H3 Sl il & ol U e &1 fadhed g




Sl U M IR e = a1 Tgal
Options :

1. % gy

2. % FYddD

3. ¢ IETER

4. % Qg

Question Number : 171 Question Id : 2752286003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy §, IR fawedl § O, 39 I8! fadey o1 I B3 Sl Tl & ol U e o1 fadhed 8|

Sl U I WR fed R 181 Tgal
Options :

1. % gy

2. % QYddch

3. ¢ TR

4. % g

Question Number : 172 Question Id : 2752286004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR el § T, 39 T8} fah e o1 99+ B3 o feT 7T Rieg & et 31 1 Ifrd faweu gl
PG

Options :
1. % 99
2. ¢ @
3. % 94
4. % gy



Question Number : 172 Question Id : 2752286004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad s 7, IR fawedl § O, 39 I8! fadw e o1 99+ 3 Ol faT 71U eg & et 31 o1 IfId faweu gl
d

Options :
1. % dd
2. ¢ @
3. % 4d
4. % 9y

Question Number : 173 Question Id : 2752286005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, oR fawenl § 9, 39 Ug! fadwed &1 9g9 o3 ot Rad RIM & oIt Iuged We &1 Wa! fadwed 71
RECH| IRY 3R B TR |

Options :
1. ¥ DIfd
2. % Pid
3. % Gl
4. % HH

Question Number : 173 Question Id : 2752286005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 Ug! fawed &1 99 &3 o ¥ad R & ol Iugad Wss &1 el fadwe 3|
REEd| IR 3R e TS|

Options :

1. ¢ PIfd




2. % Hfd
3. % ol
4. % HH

Question Number : 174 Question Id : 2752286006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl & 9, 39 fdded &1 909 o Al YS Weg & ol [ddhed o
Options :

. % ¥gy

2. ¥ Y

3. % Wy

4, % QY

Question Number : 174 Question Id : 2752286006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadmed &1 98 &1 off G e BT el [dhed g
Options :

1. % Hgw

2. ¥ ey

3. % Jgo

4, % QY

Question Number : 175 Question Id : 2752286007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR fowedl § 9, 39 fawe &1 999 &3 o Y Vs &1 Ta! [dbped 7
Options :

1. ® 3gud

2. % 3aydd




3. ¥ 3gUTed
4. % 3qdlcH

Question Number : 175 Question Id : 2752286007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 7o &3 Sl Y e &1 Ta! fAwea 71
Options :

1. % 3qUd

2. % 3qddd

3. ¢ 3gdicd

4. % 3Jqylcd

Question Number : 176 Question Id : 2752286008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead Uy & IR foeedl & T, 39 9 ey &1 999 &3 ot faT U Wsg & FHMRI et o1 fabey 7T 21

HAR
Options :
1. % ded
2. % 9ldH
3. % Slg
4, ¢ haRl

Question Number : 176 Question Id : 2752286008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR iwedl 7 9, 39 foweu &1 997 &% St foT 7T e & JHMT Weg &1 fahey Y B

HollR
Options :




1. % Per
2. % oldd
3. % sle

4. % DRl

Question Number : 177 Question Id : 2752286009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy #, IR fowedl 7 9, 39 18! f[dded &1 99 & off [qU U Xea-H & 3 &1 Tg! [ddhed gl |
ig iR s

Options :

1. ¢ S R &
2. % SAUHE 3R AR
3. % SR
4. % IR ATR

Question Number : 177 Question Id : 2752286009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fodwed! & 9, 39 98! fddwed &1 79 &3 off 4T T Wea-H & 31 &1 Ja! fddhed g |
fis 3k firs

Options :

1. ¥ SUE 3R &
2. % TG 3R iR
3. % S AR W
4. % §2 3R AGHR

Question Number : 178 Question Id : 2752286010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frofefad vy &, IR fawedl & Q, 39 fadwen &1 999 & S Wed Gfeei i1 = arelt faded el 3|

Options :

1. % BRE!
2. % JHIhHU
3. % Giid

4. % gfqyr

Question Number : 178 Question Id : 2752286010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad oy 8§, IR fawe & 9, 39 fade &1 999 &3 Sl W d i = arell fded Tl 8|

Options :

1. % BRA
2. % JHIhHU
3. % Giid

4. % gfqyr

Question Number : 179 Question Id : 2752286011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad ve o, TR faweul # 9, 39 fadhed &1 997 B Sl Yo d dgad- U & 9o 33T fadheu 5|

Options :

1. % S

2. % HYDHRY
3. ¢ oA
4. % HUR]

Question Number : 179 Question Id : 2752286011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafaiad vy o, TR fawenl § 9, 39 fadhed &1 0 B Sl Yad dgad- U &1 g9 3731 fadweu 3|

Options :

1. % Sfd

2. % USRI
3. ¥ gieH

4. % ORI

Question Number : 180 Question Id : 2752286012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁ@?rl:r%rﬁ,awﬁﬁlﬁﬁ@r,wﬁmwmqw H Ol HIFP A 4T T et o AR ITH YN aradh Ta-TH BT Ja 3] [ddhed
|

Options :

1. % (qH) $S WA TQ &l

2. ¢ (Y2) PO TR B §

3. % (9g) INIR AT

4. % (IgI) B Igd gl B |

Question Number : 180 Question Id : 2752286012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁfr@?rwﬁ,irr\YWﬁ@r,w AP ed &1 T B ol HIFD U QU U Weg & TR STH T3 T J4-TH T Tay 33T fadhey
|

Options :

1. % (JH) $© UM TG ol

2. ¢ (T3 T8 TGN HA1 &

3. % (I8) ISR TATR |

4. % (IgI) B 9gd Yeradl & |




General Hindi2

Group Number : 10

Group Id : 275228212

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 275228314

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228376

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752286013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |
CRELERIECIRII




Options :

1. % I YT

I CAINCACREIEEAN
3. ¢ Q01 YddbTd

4. % 3TF YabTd

Question Number : 181 Question Id : 2752286013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fadwedl 7 9, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |
CRELERIECIRII

Options :

1. % GG YdbTd

2. % Tl TaHHHId
3. ¢ Ul Ydhrd

4. % 3 HbTd

Question Number : 182 Question Id : 2752286014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &< off fU T8 a1 & o 3 & 0 &1 Tad o1 faded g |
Tt S SR B |

Options :

1. % Hard
2. % Hagrd
3. ¢ Ty
4. % fgemd

Question Number : 182 Question Id : 2752286014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & IR fawedl § 9, 39 fadmed &1 98 &1 off fU T8 a1 & o 3 & N &1 qa o1 faded g |
Tt Eue SR B |

Options :

1. % Hard
2. % Hagrd
3. ¢ Ty
4. % fgemd

Question Number : 183 Question Id : 2752286015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 f9hed &1 T B &l feU 77T 9199 & ol Uel & U o Jad 331 f[aheu 5|
3T SR BT YW A8 3!

Options :

1. % PP
2. % FdEae
3. % TRTfaed®
4. ¢ ARYIdD

Question Number : 183 Question Id : 2752286015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahcd o1 987 &% ot feT 7T are & fol uei & Ve &1 9ad 331 faheu g |
3 SIRT B Y TS 6!

Options :

1. % NAIdD
2. % MIdriae
3. % gfaeide



4. ¢ IRYIIdD

Question Number : 184 Question Id : 2752286016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 fawey &1 70 &3 Sl Y 91 T Ja 3737 fadheu 3|
Options :

1. % 3116 §oi- ®I g4 B §

2. % 313 B go- H 4 e §

3.¥ BT A I e @

4. % 316 I g o U g4 T B

Question Number : 184 Question Id : 2752286016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawedl & 9, 39 [daed &1 997 &< off Y TR BT Fad 3] fadhed g |
Options :

1. % 316 ol &I ¥ e §

2. % 313 B! g H g4 e §

3. ¢ 3116 §oH H g9 fiFe §

4. % JEH II I A g e g

Question Number : 185 Question Id : 2752286017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR el 7 9, 39 fawcu &1 997 &% St 9gl a1a U &1 fabeu gl
S STeH HSER § aY 309 Hidw &1 & I@ar g

Options :
1. % ggad I
2. ¢ iy ar




3. % UYdideh did]
4. % A dIH

Question Number : 185 Question Id : 2752286017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR fowedl 7 9, 39 faweu &1 997 &% St Tgl a1a Ve &1 fawbeu gl
Y ST HEER § a) 309 Hidw &7 &M T@ar g

Options :

1. % JYad qId
2. ¢ Ty gt

3. ® UHdidd di]
4. ® XA I

Question Number : 186 Question Id : 2752286018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadcdl 7 ¥, 39 fdwed &1 999 &3 o1l el d1ad He &l f[ddbed gl
o IR AT BT § b g2 get Y oy

Options :

1. ® fayrmarae a1
2. % IRA I

3. ¢ 0y arey

4. % Hgad dI

Question Number : 186 Question Id : 2752286018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR el 7 9, 39 fawed &1 997 &% St Tal a1a U &1 faweu gl




o 3T T Rl § fob g3l gel &l o
Options :

1. # fayFarae a1

2. % WA I

3. ¢ Oy g/

4. % GYad qIRd

Question Number : 187 Question Id : 2752286019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fowed! & 1, 39 fdewed &1 99+ &< il faR g god a1 &1 dal fadbed 3l
Options :

1. ¢ THTUH gad faam, "<aflt g1t & IR ¥ paaas, 3= AR Sall”

2. % THND, gad fear, Sefll gt & IR I Faads 56 IR Sral |

3. % THTEH god fear, "Sail - g1t 6 WR Y, Fadads 3¢ AR Sal "

4. % THN®, gad fean, s grft & IR W Faaar! 3% AR S[al”

Question Number : 187 Question Id : 2752286019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy 9, IR fosddl O 9, 39 fdeed &1 9a- 3 off faR1 Fag gad a1 &1 Hel fabed |
Options :

1. ¥ TohN® gad fea, wSsfh gift & IR A padas, 38 AR Sral "

2. % UHIUH, o foa, Safh grft & R Y Haaas 3¢ AR S|

3. % THNSH gad fea, "Safh - g1ft & R N, Faaas 3% AR Sl

4. % TP, gad fean, "Ss grft & R W Faaar! 3¢ AR S[al |

Question Number : 188 Question Id : 2752286020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O 4, 39 fawed &1 99+ &< SN [aR1 foig god a1 &1 Aot fdded gl |




Options :

1. ¢ PIch HoYdal sieh, " & A T T S G, GRIT & I
2. % BT HAYACH ard, " FT T AT - T I IR, TR g AT
3. % HIel : HAYda arelt, " T I I, I S SR, SRft & e
4. % BT Hogact e, " F1 I I, I T SR, SR & I

Question Number : 188 Question Id : 2752286020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fawed! & 4, 39 fdwed &1 99+ &3 ol TR g god are &1 9a! fdwbed 31|
Options :

1. ¢ HIch HAYda! sleh, " &1 I T AT S SR, GRIT &

2. % BT HAYACH ardl, " FT T AT - AT F= IR, TR g1 AT

3. % Il : HoYdal arelt, " T IEN, T ST G, SR ST A

4. % PHIch HAYd! sleh, " &1 I T, "R S G, SR & T

Question Number : 189 Question Id : 2752286021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed & 9, 39 fdeed &1 99+ &3 ol faR1 g god are o1 9al fdabed 31|
Options :

1. % 1Y S, " GH S B AdT BT ATEd 81! 3] 1 &, TH g Sialg &d 1"

2. % 1Y SIS, TH ST B a1 BT 18 Bl 3 1 &, 89 e SMAdia G g 1"

3. % 1Y S, TH ST B1 AaT BT AT6d 811" 3B 91d 5, §H e SMRNdIG ad g 1"

4.« FIY S, " A ST BT YT HAT 184 B! B! 91d 5, §H I SMRNaIG ad g 1"

Question Number : 189 Question Id : 2752286021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O T, 39 fawed &1 o+ &< SNt faR1 forg god a1 &1 et faded gl |

Options :




1. % g dlel, " gH ISl b1 e AT 16 81! 3! §1d &, §H e SMeiaig d §1"
2. % 1Y SIS, TH ST B a1 AT 18 Bl 3B 1 &, 89 e SMRAdia G g 1"

3. % 1Y S, TH ST B JdT BT AT6d 811" 3B 91d 5, §H e SMRNdIG ad g 1"
4.« FIY S, " A ST BT YT HAT 154 B! 3S1 91d 5, §H I SMRNaIG ad g 1"

Question Number : 190 Question Id : 2752286022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 fadeu &1 97 &% &t fou U deifad o1 gt 31 arerr fapea g |
30T U S, 3g-T U1 IAT

Options :

1. % 30 W1 o fore gERi &1 g1 @t
2. % 1 Tl GIRI &1 URATE -Tg! Hal
3. ¢ QI BT S-S {d 8T

4. % 3O TR ¥ AT &1 4 ST S §

Question Number : 190 Question Id : 2752286022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR fowedl ° T, 39 ey &1 wa o3 O feu U Aipifad &1 gt 31 aran faseu 3|
3O U S, 3G U1 IA

Options :

1. % 30 W1 o fore g¥Ri &1 g1 el
2. % 1 fTeH! GIRT &1 URATE 715! Hxal
3. « Ut BT 3IT-3eH T Td gl

4. % 3O TR Y AT B ) 19 9§

Question Number : 191 Question Id : 2752286023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFofifed uy §, IR eeal 7 9, 39 fahcu &1 987 &3 &t feu 71 dieifad o1 gt 31 ararr fape g |

SIS ol HeT el

Options :

1. % gfauT ¥ gga | Y 6l gidl

2. T 3R I a1 gt 7ga §

3. % §8 §al & U BT d1Y I3 dleT
4. % ford QR & WRIY T8 @A

Question Number : 191 Question Id : 2752286023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 faweu &1 97 &% ot fou U Aeifad o1 gt 31 arerr fapea g |

SN oI, Hel HedTu]

Options :

1. % AT d g+ I Y el gl

2. ¢ T R ! T &I 36 ©

3. % §3 gal & AU BT d1Y I3 AT
4. % & QIR & 1R 71§

Question Number : 192 Question Id : 2752286024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR ereal 7 9, 39 faca &1 987 & & feu 71 Aieifad o1 gt 31 ararr fapea g |

Options :

1. ¢ Y P TSR BT

2. % .G BTG
3. % q1gH Afdd

4. % YW@ 3Td A /A &



Question Number : 192 Question Id : 2752286024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fahca &1 987 &% & feu 71 Aeifad o1 gt 31 arerr fapea g |

Options :

1. ¢ Y P TSR BT

2. % IR BTIAHA G
3. % q1gH Afdd

4. % JE-g:F 3ATd 1A I8 &

Question Number : 193 Question Id : 2752286025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad ve o, TR fowenl # 9, 39 fadhed &1 707 1 Sl < 718 GgTaR &1 et 3 g fdsed g |
fgd & R H TsT

Options :

1. % FGI-GI PR Hel

2. % Pl B G

3. % YET S

4. ¥ AAMD U HHM H T BT

Question Number : 193 Question Id : 2752286025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy &, IR fawedl B Q, 39 fadwen &1 Tga & S <1 112 geTa &1 Igt o arett fasweu 7
famd & By H us

Options :



1. % SGI-IGT DX Pl

2. % Pgl HI TG

3. % YR ST

4. ¢ AP Y HHM H oOd gl

Question Number : 194 Question Id : 2752286026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fowenl # 9, 39 fadhed &1 707 B Sl < 718 GgTaR &1 e 3 g fdhed g |
3ifal # T

Options :

1. % S EMI

2. ¢ GHIM & § XgT

3. % W G B

4. % GT AT

Question Number : 194 Question Id : 2752286026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad oy & IR fawedt # 9, 39 fawe &1 Tg9 o2 ot &Y 718 Yot &1 Jat 3 arer fadwea §1
it & I

Options :

1. % YT

2. ¢ SO &G H g1

3. % 3 fogTS B

4. % ¢Rg1 AT

Question Number : 195 Question Id : 2752286027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frufefad vy ¥, IR fawedl B Q, 39 fadwen &1 w9 & S <1 12 geTa &1 Igt o arett fadweu 71
P CH-gP BT

Options :

1. * S g

2. % FGdl RIEH W Iy

3. ¢ §&d TR TG 3TUTd Ug gl
4. % g I d1d Hel

Question Number : 195 Question Id : 2752286027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR fowenl # 9, 39 fadhed &1 707 & Sl < 718 GgTaR &1 e 3 g fdsed g |
NSl H-CP BT

Options :

1. % &1 g

2. % §EAl R W YAV

3. ¥ B&d TR TR 3{TTd UgdHl
4. % §ag P d1d el

Sub-Section Number : 2
Sub-Section Id : 275228377
Question Shuffling Allowed : Yes

Question Id : 2752286028 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafRad e 1 ufey o faw g usi & IR i

1971 & YRA-UH Jg H W% H Sfid g1Ra o3 H HRTG TR gR1 TS 78 Fomdes yfiiest &1 arg § ufd af 04 GdeR &1 e faaw
AT STl ¢ | I8 U U1 AR © oId 81 30 UGGl Bl Yegiolcl HTUd Hd & adT U+ JaT-gd Hi-d! 3R J&-[aearsfi & Sfra o
TG B & | 39 &7 HRTHT AT IF BT FRAR a1 F Ul 30 Jaegar AR 81 $T QlexTd § | HRd B S X & TIE SueH




SR el & & H Tat SUeR-&5 § AP YR&M BT FRMT SR ITH FEIas! & oIt R T U 318 HiHeT &1 fafe St
&, Sl gad ¥ Y 9d b HIIA qU AP R&/ H 3P §¢d T & IU g | 1 B FichaTeeb Mafd el H dadar 9ird fadr
3T 8 IUT 3 fee AT & qUT ST W & &1 &1 Ht A1 81 1 g | I8 SR Jue YA gid! 8 fob AT gaRt favga It
Hrreff Bt FARaR DHd R TgT 8 3R I8 UM 371 aTa WaR! 3R FAIfad! T SHT dolt ¥ 3R T gérdl & 1 gohladl [ g | Tat
Sl DI AHUTH, WP fads Muersif 3R AT Tt & SR dabTdd TgHIdl SUas B B HRA A1 &1 1 IWRg-1a 7

Sub questions

Question Number : 196 Question Id : 2752286029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & AR AR feay ol AT ST 62
Options :

1. ¢ g & SR HRA &1 Fu1iaes YHeT &1 arg o
2. % YR &I oI+ Y1 o ferg

3. % Y1 PI G B b 1T IRT B & fere

4. % 9R fay & feam & forg

Question Number : 197 Question Id : 2752286030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 fodeR & fem yRdig 8 fr g a1d &) SigRrdt 82
Options :

1. % Gdd gg H I

2. ¢ R YT 1 U qeaGar 3R AT &I

3. % U T 7T 1l &I Fareht 3

4. % 1971 & Jg B! §1d] B G0 &

Question Number : 198 Question Id : 2752286031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & TR AR &% IR H {5 a1 &) SIFdR 9gd 3 &1 M gt g 2

Options :




1. ¢ R faerme et At ot et HR 6 |
2. % fqua gl H U T § |

3. % ST ! ToR] U G X8 PR HH PR 5|

4. % foume g HeR # fRUd g |

Question Number : 199 Question Id : 2752286032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g0 Y DI - T Vog (At BT FaHRIf Weg 781 82
Options :

1. % fqarg
2. % fwreT
3. % TR
4. ¢ IUTN

Question Number : 200 Question Id : 2752286033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 3G B Pl IUYH Wi
Options :

1. % gg &I i

2. ® YRA PIdA

3. ¥ HRATA TR BT 3(6H 4fHehT

4. % 4 TGUR BT 3R

Question Id : 2752286028 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafRad e 1 ufey o faw g usi & IR i

1971 % YRA-UH Jg H W% H Sfid g1Ra o3 H HRTg TR gR1 AuTE 78 Fomdes yfiiest &1 arg § ufd af 04 iR &1 e faaw
HHTIT STl ¢ | I8 U UHT AR § oId 81 {0 TRIa! Bl Yegiolcl HTUd HRd & adT U+ YaT-gd Hi-e! 3R J&-[aearsfi & sfera o




TE B § | 39 fad HIRAHT T 1§ B FARAR a1 & U SfU aaagar 3R 8T &1 GeRic g | HRd 31 995! fad & TE SuTaH
3R offiaafad & U H Tt SfUHR-&7 § AT GREM Bt R 3R ITH Feias! & oIt HRAG =T U 38 YfHeT &1 fafe ddt
&, Sl 9ad &0 I Sgd 9P BRIEH T AP Y& H 3P dgd Hod P g1 A 1 aftharetss Tfafafidt § dedar e fawR
g1 8 TUT SH e ARG & TUT I W & &1 B Ht JHIO 81 71 ¢ | T SR Ju& Y gid! ¢ fob AT gART favga I9a
T3t Pt AR Aihl B T § 3R I8 U 3 aTd R 3R Il T SHRI ool I 3R 3 gl & 1Y Jebrarall [T & | Tl
Shall B ABYUH, Ui UGS 3R A ARG & SR debld Teradl SUas R H YR TR &1 S W19 ¢ |

Sub questions

Question Number : 196 Question Id : 2752286029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TESE P TR AT fea Ff J=1 Sl 62
Options :

1. ¢ g & SR YRd &1 Fuifas yfite & arg o
2. % YRA B fH1 I b forg

3. % SR B §g B & o URd B o forg

4. % 9R fay ! fom & g

Question Number : 197 Question Id : 2752286030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 TR ¥ Rt WRer ST o el ) ST 2
Options :

1. % Had g B Bl

2. ¢ FRAR Fa1 B U aedad 3R 5T &I

3. % U fHT 7T Sl &1 Faret 3

4. % 1971 & g P qTd| I GIGRIC &

Question Number : 198 Question Id : 2752286031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR AR & SR & {6 91 ®1 - 9gd 37 &1 Wikl gict § 2




Options :

1. ¢ TR e Tt A ot et R I R
2. % fIRa gl H HFT At § |

3. % SIAT B ToRI W GR XE B HH I § |

4. % fagme fee merR A fyd g |

Question Number : 199 Question Id : 2752286032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TH Q DI - T Vg, Aafe &1 gureff wsg 181 32
Options :

1. % faarg

2. % fAwred

3. % TR

4. ¥ GG

Question Number : 200 Question Id : 2752286033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G B Dl I RMieh:
Options :

|. % gg ol Hifd

2. % YRd PpIdcd

3. ¢ YRAH AR 1 38H YT

4. % 4 QR BT 3R




